
Q1) A) Fill in the blanks. (Any 5 out of 6) [5]

i) The Indian partnership Act is _______

(1963, 1932, 1956)

ii) A fundamental condition in a contract of sale is called _______.

(Major, Secondary, Tertiary)

iii) Proceeding to resolve the dispute may be _____.

(Economic, Social, Oral or Written)

iv) Any contract requires a minimum of ______ persons.

(Three, Two, Four)

v) The resolution prohibiting marriage clause is ______.

(26, 25, 24)

vi) When consent is obtained _________ it is considered free consent.

(Fraud, Coecion, Sincerely)
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B) Match the following. [5]

      'A' Group       'B' Group

i) Adult person a) 1 July 1930

ii) Active partner b) 22 August 1996

iii) Sale of goods Act c) Type of Delivery

iv) Arbitration and conciliation Act d) Type of partner

v) Symbolic Delivery e) Completed 18 years of age

Q2) Explain the Essential Elements of a legal contract by Explaining the concept
of India contract law. [15]

Q3) Explain the rights and duties of partners by stating what is partnership. [15]

Q4)  What is unpaid seller? Explain the special rights of unpaid seller. [15]

Q5) What is an Arbitration? Explain the power and duties of an arbitrator. [15]

Q6) Write notes (Any 3) : [15]

a) General Principles of contract.

b) Types of partners.

c) Agreement for sale of Goods

d) Conciliation

e) Discharge of contract


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ^maVr¶ ^mJrXmar H$m¶Xm .......... Amho.

(1963, 1932, 1956)

ii) {dH«$s H$amamVrb ‘yb ŷV AQ>rbm .......... AQ> Ago åhUVmV.

(à‘wI, Xþæ¶‘, V¥Vr¶)

iii) {ddmX gmoS>{dÊ¶mgmR>r H$aÊ¶mV ¶oUmar H$m¶©dmhr .......... Agy eH$Vo.

(Am{W©H$, gm‘m{OH$, boIr qH$dm Vm|S>r)

iv) H$moUVmhr H$ama H$aÊ¶mgmR>r {H$‘mZ ............ ì¶º$s¨Mr Amdí¶H$Vm AgVo.

(VrZ, XmoZ, Mma)

v) {ddmhmg à{V~§Y H$aUmam R>amd, H$b‘ .............. Amho.

(26, 25, 24)

vi) Ooìhm g§‘Vr ........... {‘i{dbr Agob Va Vr ‘wº$ g§‘Vr g‘Obr OmVo.

(’$gdUyH$sZo, YmH$mZo / ~bà¶moJmZo, àm‘m{UH$nUo)
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~) `mo½` OmoS>çm bmdm. [5]

   "A' JQ>            "~' JQ>

i) gkmZ ì¶º$s A) 1 Owb¡ 1930

ii) {H«$¶merb ^mJrXma ~) 22 Am°JñQ> 1996

iii) ‘mb {dH«$s H$m¶Xm H$) ‘mb nmR>dUrMm àH$ma

iv) ‘Ü¶ñVr gbmoIm H$m¶Xm S>) ^mJrXmamMm àH$ma

v) gm§Ho${VH$ ‘mb nmRdUr B©) d¶mMr 18 df} nyU©

àíZ àíZ àíZ àíZ àíZ 2) ^maVr¶ H$ama H$m¶X¶mMr g§H$ënZm ñnï> H$ê$Z? H$m¶Xoera H$amamMo Amdí¶H$ KQ>H$ ñnï>
H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) ^mJrXmar åhUOo H$m¶ Vo gm§JyZ ^mJrXmamMo h¸$ Am{U H$V©ì¶ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) AXÎm {dH«o$Vm åhUOo H$m¶? AXÎm {dH«o$Ë¶mMo {deof h¸$ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) bdmX {ZU©¶ åhUOo H$m¶ Vo gm§JyZ bdmXmMo A{YH$ma Am{U H$V©ì¶ ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUVohr 3) [15]

A) H$amamMr ‘wb ŵV VËdo

~) ^mJrXmam§Mo àH$ma

H$) ‘mb {dH«$sMm H$ama

S>) g‘PmoVm

B) H$amamMr g‘már


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Q1) A) Fill in the blanks (Any 5) : [5]

i) Accounting Standard-3 deals with ________

a) Cash Flow Statements

b) Lease

c) Government Grants

d) Accounting for Taxes on Income

ii) _______ is an agreement whereby the lessor conveys to the lessee
in return for the payment or series of payments the right to use an
asset for an agreed period of time.

a) Lease b) Contract

c) Bond d) Partnership deed

iii) What is the other name for Rebate on Bills Discounted?

a) Discount Received in Advance

b) Unexpired discount

c) Prepaid discount

d) None of the Above

P.T.O.
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iv) The item Bills for collection in Bank Final Accounts should be
shown as a ________
a) Schedule No.02
b) Schedule No.11
c) Schedule No.08
d) Footnote of the Balance Sheet

v) Any Balance left out in Capital Reduction account will be
transferred to ___________ account.
a) Capital Reserve b) General Reserve
c) Statutory Reserve d) None of the Above

vi) When a security is to be sold or acquired at the price lower than
its face value it is termed as sold or acquired at _______
a) Discount b) Par
c) Premium d) High value

vii) ______is the charge / expense charged by the broker as a
commission for the services in buying and selling of the securities.
a) Brokerage b) Interest
c) Stamp duty d) Discount

B) True or False (Any 5): [5]
i) Accounting Standards in India are issued by the ICAI
ii) Cash flow statement exhibits the flow of incoming and outgoing

cash
iii) Every Banking company should close its books of account on

31st December each year.
iv) Investment is valued at cost price or market price whichever is

highest.
v) Surrender of shares is a procedure where shareholders are asked

to surrender some of the shares so as to reduce the share capital of
the company.

vi) The balance sheet in bank final account is prepared in form ‘A’
vii) Interest is Calculated on the Face value of Investment.

C) Match the Following : [5]
Group A Group B
i) NPA a) Leases
ii) Liability for party paid shares b) Non-Performing Assets
iii) AS-19 c) Accounting Standard Board
iv) ASB d) With Interest
v) Cum interest e) Contingent Liability
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D) Short Notes (Any 3): [15]
i) AS-3, Cash Flow Statements
ii) Internal Reconstruction
iii) AS- 12, Accounting for Government Grants
iv) Non-Performing Assets
v) Classification of Investment

Q2) Suhana Ltd., Delhi presents you with the following Balance Sheet as
on 31st March, 2023 [20]

Balance Sheet as on 31st March, 2021
Liabilities `̀̀̀̀ Assets `̀̀̀̀

Share Capital: Goodwill 80,000
• 2000 Equity Shares of `̀̀̀̀ 2,00,000 Land and Building 1,75,000

100 each, fully paid-up Plant and Machinery 1,50,000
• 2500,7% Preference 2,50,000 Patents 65,000

Shares of 100 each, fully Stock 1,00,000
paid-up Sundry Debtors 85,000
Profit Prior to Incorporation 5,000 Balance with Bank 2,500
6% Debenture 1,50,000 Preliminary Expenses 40,000
Sundry Creditors 90,000 Underwriting

Commission 2,500
Bills Payable 40,000 Profit and Loss 35,000

Total 7,35,000 Total 7,35,000
The Following Scheme of reconstruction was duly approved.
a) 7% preference Shares be converted into 8% preference Shares, the

amount to be reduced by 30%.
b) Equity Shares be reduced to fully paid shares of ` 50 each
c) Land and Building be appreciated by 8%
d) 6% Debenture be reduced by 20%.
e) All Intangible assets and fictitious amounts including Patents be written

off.
f) Utilizes Profit Prior to Incorporation, if necessary.

Pass the journal entries to record the above scheme of reconstruction
in the books of Suhana Ltd., Delhi. Prepare Capital Reduction account
and revised Balance Sheet as on 31st March, 2023.
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Q3) Following is the Trial Balance of Punit Bank Ltd., Agra as on 31st

March, 2023. [20]

Particulars Debit (`̀̀̀̀) Particulars Credit (`̀̀̀̀)

General Expenses 32,000 Equity Share Capital 4,00,000

Interest Paid 23,000 Reserve Fund 1,00,000

Cash in Hand 35,000 Current Account 20,20,000

Loans Cash Credit

and Overdraft 20,60,000 Fixed Deposits 12,80,000

Depreciation on premises 27,000 Saving Bank

Account 2,00,000

Premises 4,31,000 Interest Received 1,60,000

Silver 32,000 Profit & Loss

A/c 1.4.2022 1,20,000

Cash with RBI 2,00,000 Discount Received 30,000

Cash with Other Bank 1,03,000 Commission 5,000

Gold 39,000 Recurring Deposits 20,000

Money At Call and

Short Notice 1,00,000

Rent Paid 30,000

Investment In Shares 9,40,000

Bills Purchased and

Discounted 2,63,000

Government Bonds 20,000

Total 43,35,000 Total 43,35,000

Additional Information -

a) Provide `̀̀̀̀ 10,000 for Bad and Doubtful Debts.

b) Interest accrued on Investment was `̀̀̀̀ 10,000.

c) Provide `̀̀̀̀ 20,000 for taxation.

d) Rebate on bills discounted `̀̀̀̀ 12,000.

e) Bills for collection amounted to `̀̀̀̀ 80,000.

f) Transfer 25% of profit to Statutory Reserve.
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Q4) Prepare final Accounts of Banking Company for the year ended 31st Mar.
2023, according to Banking Regulation act with prescribed schedules.[20]

Sahara finance Co. Ltd., Kanpur had on hand on 1st Jan. 2023 `̀̀̀̀ 5,00,000
of 5% Government of India Loan, the cost of which as shown in the books
was `̀̀̀̀ 5,30,000. Interest on these securities was last received up to 30th

September 2022.

On 31st May, 2023 the Company purchased `̀̀̀̀ 3,60,000 worth of loan at
6% premium ex-interest.

On 30th June 2023 `̀̀̀̀ 2,00,000 worth of loan was sold at 7% premium ex-
interest. On 31st August, 2023 a further loan of `̀̀̀̀ 2,40,000 was sold at
7.5% premium cum-interest.

Interest is receivable on 31st March and 30th September every year.
 On 31st December 2023 the market price was `̀̀̀̀ 107.

Prepare 5% Government of India Loan, Investment Account for the Year
ending 31st Dec. 2023





Q1) A) Fill in the blanks (any five) : [5]
i) _______ is the reduction of transaction cost of transborder

movement of capital and goods.

a) Globalization b) Liberalisation

c) Privatization d) Demonetization

ii) _______ scheme aim is 'Job Seeker will be job provider'.

a) eNAM b) PM Kisan

c) Start up India d) PM Asha

iii) The concept of economic development is related to __________.

a) Social changes b) Quantitative changes

c) Qualitative changes d) Political changes

iv) Indian's New Industrial policy was announced in __________.

a) 2007 b) 2001

c) 1991 d) 2014

v) _________ sector is the backbone of Indian economy.

a) Service sector b) Financial sector

c) Tourism sector d) Agriculture sector

vi) HDI index is measured on a scale of _________.

a) 0 to 1 b) 1 to 100

c) 100 to 1000 d) 5 to 10
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B) Match the following : [5]

Group 'A' Group 'B'

i) Indian Economy a) 2020

ii) New Farm Act b) Developing economy

iii) New Industrial Policy c) Low productivity

iv) Make in India d) 1991

v) Indian Agriculture e) 2014

Q2) Discuss the characteristics of the Indian Economy as a developing economy.
[15]

Q3) Explain the causes of low productivity of Indian agriculture. State the
measures of its improvement. [15]

Q4) Explain role of micro, small and medium scale enterprises in India. [15]

Q5) Define service sector. Explain role of service sector in Indian economy.
[15]

Q6) Write short note (any three) : [15]

a) Economic Development

b) Organic farming

c) Industrial Revolution

d) Make in India

e) E-commerce


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUVohr nmM) … [5]

i) ............ åhUOo ^m§S>db Am{U dñVy§À`m gr_mnma hmbMmbrÀ`m ì`dhma IMm©V
KQ> hmò .

A) OmJVrH$sH$aU ~) CXmarH$aU

H$) ImOJrH$aU S>) {d_wÐrH$aU

ii) ............... `moOZoMo C{Ôï> ho "ZmoH$ar emoYUmam hm ZmoH$ar XoUmam Agob'.

A) B Zm_ ~) nr E_ {H$gmZ

H$) ñQ>mQ>©An B§{S>`m S>) nr E_ Amem

iii) Am{W©H$ {dH$mg hr g§H$ënZm ............. er g§~§{YV Amho.

A) gm_m{OH$ ~Xb ~) g§»`mË_H$ ~Xb

H$) JwUmË_H$ ~Xb S>) amOH$s` ~Xb

iv) ^maVmMo ZdrZ Am¡Úmo{JH$ YmoaU ............. _Ü ò Omhra Pmbo.

A) 2007 ~) 2001

H$) 1991 S>) 2014

v) ............. ho joÌ ^maVr` AW©ì`dñWoMm H$Um Amho.

A) godm joÌ ~) {dÎmr` joÌ

H$) n ©̀Q>Z joÌ S>) eoVr joÌ

3 P.T.O.
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vi) _mZd {dH$mg {ZX}em§H$mMo _moO_mn .............. Amho.

A) 0 Vo 1 ~) 1 Vo 100

H$) 100 Vo 1000 S>) 5 Vo 10

~) Imbrb `moS>çm Owidm … [5]

"A' JQ> "~' JQ>

i) ^maVr` AW©ì`dñWm A) 2020

ii) ZdrZ H¥$fr H$m`Xm ~) {dH$gZerb AW©ì`dñWm

iii) ZdrZ Am¡Úmo{JH$ YmoaU H$) H$_r CËnmXH$Vm

iv) _oH$ BZ B§{S>`m S>) 1991

v) ^maVr` eoVr B) 2014

àíZ àíZ àíZ àíZ àíZ 2) {dH$gZerb AW©ì`dñWm åhUyZ ^maVr` AW©ì`dñWoÀ`m d¡{eï>ç§mMr MMm© H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) ^maVr` eoVrÀ`m Aën CËnmXH$VoMr H$maUo ñnï> H$am. {VÀ`m gwYmaUoMo Cnm` gwMdm. [15]

àíZ àíZ àíZ àíZ àíZ 4) ^maVmVrb gwú_, bKy Am{U _Ü`_ CÚmoJmMr ŵ{_H$m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) "godm joÌ' ì`m»`m Úm. ^maVr` AW©ì`dñWoVrb godm joÌmMr ŵ{_H$m ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm (H$moUË`mhr VrZ) … [15]

A) Am{W©H$ {dH$mg

~) g|Ðr` eoVr

H$) Am¡Úmo{JH$ H«$m§Vr

S>) _oH$ BZ B§{S>`m

B) B©-H$m°_g©





Q1) A) Fill in the blanks. (Any Five) [5]
i) ________ is not a subject matter of International Economics.

a) Foreign Direct Investment
b) Regional Inequality
c) Balance of Payment
d) Foreign Exchange market

ii) _______ Economist is associated with theory of factor endowment.
a) J.M. Keynes b) Adam Smith
c) Malthas d) Heckscher Ohlin

iii) International Trade is _______.
a) Trade between continets b) Trade between regions
c) Trade between countries d) Trade between state

iv) ______ is a tools of protection of Trade.
a) Quota b) Tariff
c) Subsidy d) All of the above

v) Leontif parodox is an empirical testing of ________ theory.
a) Heckscher ohlin
b) Absolute cast advantage
c) Comparative cost advantage
d) Opportunity cost

vi) Terms of Trade measure _________.
a) The income of one country compared to other
b) Exports prices compared to import prices
c) The G.DP of one country compared to another
d) The quantity of exports of one country compared to another
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B) Match the pairs. [5]
A Group     B Group

i) Heckscher ohline a) Ricardo
ii) Comparative cost advantage b) Quota

Theory
iii) Tools of Protected Trade c) Factor Endowment Theory
iv) Product life Cycle Theory d) G.S. Dorrance
v) Income terms of Trade e) Vernon

Q2) What is International Economics? Explain the scope of International
Economics. [15]

Q3) Explain Leontifs Paradox in detail. [15]

Q4) What is protected trade policy? Explain the tools of protection in detail. [15]

Q5) Explain meaning and Importance of Terms of Trade. [15]

Q6) Write short notes. (Any Three) [15]
a) Importance of International Economics
b) Free Trade Policy
c) Tariffs
d) Role of International Trade in Economic development
e) Gross Bater Terms of Trade


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2) àíZ H«$. 2 Vo àíZ H«$. 5 `mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZmMo nwU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr nmM) [5]
i) ........... hm Am§Vaamï´>r` AW©emñÌmMm Aä`mg {df` Zmhr.

A) naH$s` WoQ> Jw§VdUyH$ ~) àXo{eH$ {df_Vm
H$) ì`dhmaVmob S>) naH$s` {d{Z_` ~mOma

ii) ........... `m AW©VkmMo Zmd KQ>H$ XoZJr {gÕm§Vmer g§~§YrV Amho.
A) Oo.E_. Ho$Ýg ~) A°S>_ pñ_W
H$) _mëWg S>) hoH$íMa AmohbrZ

iii) Am§Vaamï´>r` ì`mnma åhUOo .............
A) I§S>m_Yrb ì`mnma ~) àXoem§_Yrb ì`mnma
H$) Xoem§_Yrb ì`mnma S>) amÁ`m§_Yrb ì`mnma

iv) .............. ho ì`mnmamÀ`m g§ajUmMo gmYZ Amho.
A) H$moQ>m ~) OH$mV
H$) AZwXmZ S>) darb n¡H$s gd©

v) {bAm°ÝQ>r\$Mm {damoYm^mg ............... ̀ m {gÕm§VmMr AZŵ dm{Yð>rV MmMUr Amho.
A) hoH$íMa AmohbrZ ~) {Zanoj IM© bm^
H$) VwbZmË_H$ IM© bm^ S>) g§Yr IM©

vi) ì`mnma eWu Ûmao ............... _moObo OmVo.
A) BVa XoemÀ`m VwbZoV EH$m XoemMo CËnÝZ
~) Am`mV qH$_VrÀ`m VwbZoV {Z`m©V qH$_Vr
H$) BVa Xoem§À`m VwbZoV BVa XoemMm Or.S>r.nr.
S>) BVa Xoem§À`m VwbZoV EH$m XoemÀ`m {Z`m©VrMo g§»`mË_H$ à_mU

3 P.T.O.
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~) OmoS>çm Owidm. [5]
"A' JQ>      "~' JQ>

i) hoH$íMa AmohbrZ A) [aH$mS>m}
ii) VwbZmË_H$ IM© bm^ {gÕm§V ~>) H$moQ>m
iii) g§a{jV ì`mnmamMo gmYZ H$) KQ>H$ XoZJr {gÕm§V
iv) dñVy {OdZMH«$ {gÕm§V S>) Or.Eg. S>m°aoÝg
v) CËnÝZ ì`mnma eWu B>) ìhZ©Z

àíZ àíZ àíZ àíZ àíZ 2) Am§Vaamï´>r` AW©emñÌ åhUOo H$m`? Am§Vaamï´>r` AW©emñÌmMr ì`már ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) {bAm°ÝQ>r\$ Mm {damoYm^mg g{dñVa ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) g§a{jV ì`mnma YmoaU åhUOo H$m`? g§a{jV ì`mnma YmoaUmMr gmYZo g{dñVa ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 5) ì`mnmaeWvMm AW© Am{U _hËd ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]
A) Am§Vaamï´>r` AW©emñÌmMo _hËd
~) _wŠV ì`mnma YmoaU
H$) OH$mVr
S>) Am{W©H$ {dH$mgmVrb Am§Vaamï´>r` ì`mnmamMr ŷ{_H$m
B) ñWyb dñVw ì`mnmaeVu





Q1) A) Fill in the blanks with the most appropriate alternative (any Five) [5]
i) _________ objective of an audit is to detect fraud and errors

(primary, secondary, none).
ii) ___________ is the selection of a representative sample from a

large number of similar transactions.
(Internal Check, Continuous Check, Test Check)

iii) The first auditor of the company is appointed by the _________.
(CAG, Central Government, Board of Directors)

iv) __________ of the following is not a skill needed by a Forensic
Accountant. (Accounting and Auditing, Investigative, Sociology)

v) Qualification of Company Auditor is __________.
(CA, GDC&A, M. Com)

vi) __________ principles are listed in AAS1 which govern auditor’s
professional obligation. (Nine, Fourteen, Seven)

B) True or False. [5]
i) Audit certificate is similar to audit report
ii) Every auditor should follow auditing standards.
iii) The tax audit limit as per section 44B and the provision for tax

accounting one examination is one crore.
iv) Electronic data processing refers to the input and output processing

of information.
v) Errors are inadvertent acts committed by the employees of the

organization while recording transactions.
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Q2) Write a short note (any two) : [10]

a) Types of frauds

b) Internal audit

c) Importance of Forensic Audit

d) Types of auditor's report

Q3) Answer the following (Any 2) : [30]

a) What is an Audit Program? Write the Advantages and Limitations of
Audit Program.

b) What is Vouching? Write the points to be considered in Vouching.

c) Explain the rights, duties and responsibilities of a company Auditor.

d) What is Forensic audit? Explain the techniques of Forensic Audit.


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr 5) [5]
i) \$gdUyH$ Am{U ÌwQ>r emoYUo ho A§Ho$jUmMo .......... C{Ôï>o Amho.

(àmW{_H$, Xþæ`_, H$moUVoM Zmhr).

ii) ......... åhUOo _moR²>`m g§» òZo g_mZ ì`dhmam§n¡H$s à{V{ZYr Z_wZm {ZdS>Uo hmò .

(A§VJ©V VnmgUr, gVV VnmgUr, MmMUr VnmgUr)
iii) H§$nZrMm n{hbm A§Ho$jH$ .......... Zo Zo_bm OmVmo.

(gr E Or, H|$Ð gaH$ma, g§MmbH$ _§S>i)
iv) Imbrbn¡H$s ............. ho \$m°aopÝgH$ AH$mC§Q>§Q>bm Amdí`H$ Agbobo H$m¡eë`

Zmhr. (boIm Am{U boImnarjU, AÝdofUmË_H$, g_mOemó)
v) H§$nZr A§Ho$jH$mMr nmÌVm ........ AgVo. (CA, GDC&A, M. Com)
vi) .......... VËdo AAS1 _Ü ò gyMr~Õ AmhoV Or boImnarjH$mÀ`m ì`mdgm{`H$

Xm{`Ëdmda {Z §̀ÌU R>odVmV. (ZD$, Mm¡Xm, gmV)
~) MyH$ H$s ~amo~a. [5]

i) A§Ho$jU à_mUnÌ ho A§Ho$jU Ahdmbm gmaIoM AgVo.

ii) àË òH$ boIm narjH$mZo boImnarjU _mZH$m§Mo nmbZ Ho$bo nm{hOo.

iii) H$b_ 44 ~r Zwgma H$a boImnarjU _`m©Xm Am{U H$a boImnZ EH$ narjUmMr
VaVyX EH$ H$moQ>r Amho.

iv) BboŠQ´>m°{ZH$ S>oQ>m àmogoqgJ åhUOo _m{hVrMo BZnwQ> Am{U AmCQ>nwQ> àmogoqgJ hmò .

v) MwH$m åhUOo ì`dhmamÀ`m Zm|Xr H$aVmZm g§ñWoÀ`m H$_©Mmè`mH$Sy>Z AZmdYmZmZo Ho$bobo
H¥$Ë` hmò .
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àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]
A) A\$amV\$arMo àH$ma

~) A§VJ©V A§Ho$jU

H$) \$m°aopÝgH$ Am°{S>Q> Mo _hËd

S>) A§Ho$jH$ AhdmbmMo àH$ma

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àým§Mr CÎmao {bhm. (H$moUË`mhr XmoZ) [30]

A) A§Ho$jU H$m ©̀H«$_ åhUOo H$m`? A§Ho$jU H$m ©̀H«$_mMo \$m`Xo Am{U _`m©Xm {bhm.

~) à_mUZ åhUOo H$m` à_mUZm_Ü ò {dMmamV ¿`m`Mo _wÔo {bhm.

H$) H§$nZr A§Ho$jH$mMo A{YH$ma, H$V©ì` Am{U O~m~Xmè`m ñnï> H$am.

S>) Ý`m`d¡{XH$ (Forensic) A§Ho$jU åhUOo H$m`? Ý`m`d¡{XH$ A§Ho$jUmMr V§Ìo ñnï> H$am.





Q1) A) Fill in the Blanks with most appropriate answer (Any 5) : [5]
i) _______ involves temporarily assigning employees to different

jobs.
a) Job Description
b) Job Rotation
c) Job Specification

ii) Orientation and induction training is conducted for __________
employees.
a) Existing
b) Newly Recruited
c) Retired

iii) _______ is NOT a factor influencing Human Resource Planning.
a) Employee Engagement
b) Government Regulation
c) Technological Advancement

iv) _________ Training is imparted to improve proficiencies needed
to actually perform the job.
a) Skills
b) Team
c) Safety

v) ________ is to identify the strengths and weakness of employees
to place right person at the right job.
a) Performance Appraisal
b) Feedback
c) Selection
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vi) Halo effect and Horn Effect are the limitations of the ________.
a) Performance Appraisal
b) Job Description
c) Human Resource Management

B) Match the pairs : [5]
Group A Group B

i) Group Discussion a) Situation Test

ii) Stress Interview b) Deliberate strain on candidate

iii) External Source c) Employment Exchange

iv) Performance Appraisal d) Evaluating the potential of an
employee

v) Human Resource e) Concerned with People

Management

Q2) Write short notes on (Any two) : [10]

a) Job Rotation

b) Benefits of Training

c) Steps in Human Resource Planning

d) Appraisal by Results

Q3) a) Explain the procedure of Performance Appraisal. [8]
b) Explain different types of training. [7]

Q4) a) Discuss various objectives of Human Resource Management. [8]
b) Differentiate between Recruitment and Selection. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am (H$moUË`mhr nmM) … [5]

i) ............... _Ü ò H$_©Mmè`m§Zm doJdoJù`m H$m_mda VmËnwaVo {Z ẁº$ H$aUo ho g_m{dï>
AgVo.

A) H$m ©̀ {ddaU

~) H$m ©̀ n[a «̂_U

H$) H$m ©̀ Vnerb

ii) .................. H$_©Mmè`m§gmR>r A{^_wIVm Am{U àoaU à{ejU Am`mo{OV Ho$bo
OmVo.

A) {dÚ_mZ

~) Zì`mZo ^aVr

H$) {Zd¥Îm

iii) _mZd g§gmYZ {Z`moOZmda n[aUm_ H$aUmam ............. KQ>H$ Zmhr.

A) H$_©Mmar gh^mJ

~) gaH$mar {Z`_Z

H$) Vm§{ÌH$ àJVr

iv) àË`j H$m_ H$aÊ`mgmR>r Amdí`H$ Agboë`m àdrUVogmR>r .............. à{ejU
{Xbo OmVo.

A) H$m¡eë`o

~) g§K

H$) gwa{jVVm
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v) ................. åhUOo `mo½` ì`º$sbm `mo½` ZmoH$arda R>odÊ`mgmR>r H$_©Mmè`m§Mr
VmH$X Am{U H$_Hw$dVnUm AmoiIUo.
A) H$m_{Jar _yë`m§H$Z
~) A{^àm`
H$) {ZdS>

vi) h°bmo B\o$ŠQ> Am{U hm°Z© B\o$ŠQ> ............. À`m _`m©Xm AmhoV.
A) H$m_{Jar _yë`m§H$Z
~) H$m ©̀ {ddaU
H$) _mZd g§gmYZ ì`dñWmnZ

~) OmoS>çm bmdm … [5]
JQ> A JQ> ~

i) JQ> MMm© A) n[apñWVr MmMUr
ii) VmU _wbmIV ~) C_oXdmamda OmUrdnyd©H$ VmU
iii) ~mø ómoV H$) amoOJma {d{Z_`
iv) H$m_{Jar _yë`m§H$Z S>) H$_©Mmè`mÀ`m j_VoMo _yë`_mnZ H$aUo
v) _mZd g§gmYZ ì`dñWmnZ B©) bmoH$m§er g§~§{YV

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) … [10]
A) H$m ©̀ n[a «̂_U
~) à{ejUmMo \$m`Xo
H$) _mZd g§gmYZ {Z`moOZmVrb Q>ßno
S>) n[aUm_mZwgma _wë`m§H$Z

àíZ àíZ àíZ àíZ àíZ 3) A) H$m_{Jar _wë`m§H$ZmMr à{H«$`m ñnï> H$am. [8]
~) à{ejUmMo {d{dY àH$ma ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) _mZd g§gmYZ ì`dñWmnZmÀ`m {d{dY C{Ôï>m§da MMm© H$am. [8]
~) ^aVr Am{U {ZdS> `mVrb \$aH$ ñnï> H$am. [7]





Q1) A) Fill in the blanks. (any 5) [5]
i) _________ Allocate saving efficiently in an economy to ultimate

users either for investment in real assets or for consumption.
a) Economic system b) Banking system
c) Financial system d) Market system

ii) _________ is regulator of money market.
a) RBI
b) Government of India
c) Telecom regularity authority
d) Insurance regularity department

iii) In Capital market the major suppliers of trading instruments
are ______.
a) Government of corporation
b) Liquid corporations
c) Instrumental corporation
d) Manufacturing corporations

iv) Exchange rates are determined in _____.
a) Money market b) The foreign exchange market
c) The stock market d) The capital market

v) India’s foreign exchange rate system is _________.
a) Free Float b) Managed float
c) Fixed d) Fixed target of band.

vi) Money market is a mechanism through which _______ funds are
loaned and borrowed.
a) Short term b) Medium term
c) Long term d) None of the above
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B) Match the following : [5]
      Group A       Group B

i) Financial system - a) Finance for Development
ii) Money market - b) The framework for the

exchange of one National
currency for another

iii) Capital market instrument - c) RBI
iv) Central Bank of India - d) Debenture
v) Foreign Exchange market - e) Short term loan

Q2) Write short notes. (any 2) [10]
a) Role of financial system in economic development.
b) Deficiencies of Indian money market.
c) Functions of foreign exchange market.
d) Credit instrument in Indian capital market.

Q3) a) Explain structure of Indian financial system. [8]
b) Explain participants in Indian money market. [7]

Q4) a) Define Foreign Exchange Market. Explain participants in Foreign Exchange
market. [8]

b) Explain function of Indian capital market. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUVohr 5) [5]
i) ............... AW©ì`dñWoVrb H$m ©̀j_VoZo ~MVrMo dmQ>n A§{V_ dmnaH$Ë`mªZm EH$Îma

dmñV{dH$ _mb_ÎmoVrb Jw§VdUwH$sgmR>r qH$dm dmnamgmR>r H$aVo.
A) Am{W©H$ àUmbr ~) ~±qH$J àUmbr
H$) {dÎmr` àUmbr S>) ~mOma àUmbr

ii) ........... ZmUo~mOmamMo {Z`m_H$ Amho.
A) ^maVr` [aPìh© ~±H$ ~) ^maV gaH$ma
H$) Xÿag§Mma {Z`{_VVm àm{YH$aU S>) {d_m {Z`{_VVm {d^mJ

iii) ^m§S>db ~mOmamV ì`mnma gmYZm§Mo à_wI nwadR>mXma ............ AmhoV.
A) gaH$ma Am{U H$mnm}aoeZ ~) {b{¹$S> H$mnm}aoeZ
H$) BÝñQ®>_oÝQ²>b H$mnm}aoeZ S>) CËnmXZ H§$nÝ`m

iv) {d{Z_` Xa .............. _Yo {ZYm©[aV Ho$bo OmVmV.
A) ZmUo ~mOma ~) naH$s` {d{Z_` ~mOma
H$) eoAa ~mOma S>) ^m§S>db ~mOma

v) naH$s` MbZ ImVo amIUo ............ gmR>r Cn ẁº$ Amho.
A) ì`dhma IM© Q>miUo
~) {d{Z_` OmoIr_ Q>miUo
H$) ì`dhma IM© Am{U {d{Z_` OmoIr_ XmoÝhr Q>miUo
S>) {d{Z_` OmoIr_ Am{U Xoem§VJ©V MbZ Kgmam Q>miUo

vi) ZmUo ~mOma åhUOo Aer `§ÌUm H$s {OÀ`m_m\©$V ......... H$O} {Xbr d KoVbr
OmVmV.
A) Aën _wXVrMr ~) _Ü`_ _wXVrMr
H$) XrK© _wXVrMr S>) darb n¡H$s Zmhr
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~) OmoS>çm Owidm. (H$moUVohr 5) [5]
        A JQ>      ~ JQ>

i) {dÎmr` àUmbr - A) {dH$mgmgmR>r AW© nwadR>m
ii) ZmUo~mOma - ~) EH$m XoemÀ`m MbZmMr Xþgè`m XoemÀ`m

MbZm ~amo~a AXbm~Xb H$aÊ`mgmR>t
Mm¡H$Q> nwa{dÊ`mMo H$m ©̀ H$aVmo

iii) ^m§S>db ~mOma {d{Îm` gmYZo - H$) Ama~rAm`
iv) ^maVmMr _Ü`dVu ~±H$> - S>) H$O© amoIo
v) naH$s` {d{Z_` ~mOma - B) AënH$mbrZ H$O© nwadR>m

àíZ àíZ àíZ àíZ àíZ 2) Q>rnm {bhm. (H$moUË`mhr 2) [10]
A) Am{W©H$ {dH$mgmV {dÎmr` àUmbrMr ŷ{_H$m
~) ^maVr` ZmUo~mOmamVrb CUrdm/Xmof
H$) naH$s` {d{Z_` ~mOma noR>oMr H$m }̀
S>) ^maVr` ^m§S>db ~mOmamVrb {dÎmr` gmYZo

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVr` {dÎmr` àUmbrMr g§aMZm ñnï> H$am. [8]
~) ^maVr` ZmUo~mOmamVrb gh^mJr ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) naH$s` {d{Z_` ~mOmamMr ì`m»`m {bhm. naH$s` {d{Z_` ~mOmamVrb gh^mJr KQ>H$
ñnï> H$am. [8]

~) ^maVr` ^m§S>db ~mOmamMr H$m }̀ ñnï> H$am. [7]





Q1) A) Fill in the blank with the most appropriate alternative (any Five)[5]
i) What is the significance of the History and Evolution of Labour Laws

in India?
a) It has no relevance to current labour practices
b) It provides insights into the development of workers rights
c) It focuses on technological advancements in the labour sector
d) It primarily discusses taxation policies

ii) Who appoints and oversees the Chief Labour Commissioner in India?
a) Ministry of Labour & Employment - Government of India
b) Supreme Court of India
c) President of India
d) Reserve Bank of India (RBI)

iii) What does the Factories Act specifically address regarding the health
of workers in factories?
a) Daily medical check-ups for workers
b) Provision of clean drinking water and sanitary facilities
c) Weekly holidays for workers
d) Promotion of healthy eating habits among workers

iv) What is the role of the Inspector under The Factories Act, 1948?
a) To promote the interests of factory owners
b) To enforce compliance with the Act’s provisions
c) To handle administrative tasks for factories
d) To represent workers in labour disputes
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v) What is the objective of The Employees State Insurance Act, 1948?
a) To regulate working hours in factories
b) To provide medical benefits to employees
c) To enforce taxation policies in workplaces
d) To promote collective bargaining among workers

vi) Who is covered under the Employees Provident Fund Scheme as
per the EPF Act?
a) Only government employees
b) Only private sector employees
c) Both government and private sector employees
d) Self-employed individuals

B) Match the following [5]
Column A Column B

i) Unfair Labour Practices a) Risk of bodily injury,
poisoning or disease to
workers

ii) Unorganized Sector b) Violate the rights of workers
iii) Hazardous process c) Injury during Employment
iv) Disablement Benefit d) A member is eligible for

pension
v) Superannuation e) Small and scattered units

Q2) Write a short note (any two) (150 words each) : [10]
i) Ministry of Labour & Employment
ii) “Factory” as per the Factories Act
iii) Maternity benefit as per the Employees State Insurance Act
iv) Applicability of the EPF Act, 1952

Q3) Answer the following questions :
i) What are unfair labour practices, and how do they impact the rights of

workers in India? [8]
ii) What are the provisions of the Factories Act regarding the welfare of

factory workers? [7]

Q4)  Answer the following questions :
i) Explain the role and functions of the 'Employees State Insurance

Corporation' under the Employees State insurance Act. [8]
ii) How does the EPF Act, 1952 protect employees contributions and

benefits? [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) gdmªV ¶mo½¶ n¶m©¶mZo [aº$ OmJm ^am. (H$moUVohr nmM) [5]
i) ^maVmVrb H$m‘Jma H$m¶Úm§Mm B{Vhmg Am{U CËH«$m§VrMo ‘hÎd H$m¶ Amho?

A) gÜ¶mÀ¶m l‘ nÕVter Ë¶mMm H$mhr g§~§Y Zmhr
~) ho H$m‘Jmam§À¶m h¸$m§À¶m {dH$mgmgmR>r A§VÑ©ï>r àXmZ H$aVo
H$) ho H$m‘Jma joÌmVrb Vm§{ÌH$ àJVrda bj H|${ÐV H$aVo
S>) ¶mV àm‘w»¶mZo H$a YmoaUm§Mr MMm© Ho$br OmVo

ii) ^maVmVrb ‘w»¶ H$m‘Jma Am¶wº$m§Mr {Z¶wº$s Am{U XoIaoI H$moU H$aVo?
A) l‘ Am{U amoOJma ‘§Ìmb¶ - ^maV gaH$ma
~) ^maVmMo gdm©oƒ Ý¶m¶mb¶
H$) ^maVmMo amï´>nVr
S>) [aPìh© ~±H$ Am°’$ B§{S>¶m (RBI)

iii) H$maImÝ¶m§Vrb H$m‘Jmam§À¶m Amamo½¶m~m~V H$maImZm A{Y{Z¶‘ {deofV: H$m¶
g§~mo{YV H$aVo?
A) H$m‘Jmam§gmR>r XaamoO d¡ÚH$s¶ VnmgUr
~) ewÕ {nÊ¶mMo nmUr Am{U ñdÀN>Vm{df¶H$ gw{dYm§Mr VaVyX
H$) H$m‘Jmam§gmR>r gmám{hH$ gwQ>r
S>) H$m‘Jmam§‘Ü¶o {ZamoJr ImÊ¶mÀ¶m gd¶tZm àmoËgmhZ

iv) H$maImZm A{Y{Z¶‘, 1948 A§VJ©V {ZarjH$mMr ŷ{‘H$m H$m¶ Amho?
A) H$maImZXmam§Mo {hV OmonmgUo
~) H$m¶ÚmVrb VaVwXtMo nmbZ H$aÊ¶mMr A§‘b~OmdUr H$aUo
H$) H$maImÝ¶m§Mr àemgH$s¶ H$m‘o hmVmiUo
S>) H$m‘Jma {ddmXm§‘Ü¶o H$m‘Jmam§Mo à{V{Z{YËd H$aUo
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v) H$‘©Mmar amÁ¶ {d‘m H$m¶Xm, 1948 Mo C{Xï> H$m¶ Amho?
A) H$maImÝ¶m§‘Yrb H$m‘mÀ¶m Vmgm§Mo {Z¶‘Z H$aUo
~) H$‘©Mmè¶m§Zm d¡ÚH$s¶ bm^ XoUo
H$) H$m‘mÀ¶m {R>H$mUr H$a AmH$maUr YmoaUo bmJy H$aUo
S>) H$m‘Jmam§‘Ü¶o gm‘y{hH$ gm¡Xo~mOrbm àmoËgmhZ XoUo

vi) B©nrE’$ H$m¶Úm§VJ©V H$‘©Mmar ^{dî¶ {Zdm©h {ZYr ¶moOZ|VJ©V H$moUmMm g‘mdoe
hmoVmo?
A) Ho$di gaH$mar H$‘©Mmar
~) Ho$di ImOJr joÌmVrb H$‘©Mmar
H$) XmoÝhr gaH$mar Am{U ImOJr joÌmVrb H$‘©Mmar
S>) ñd¶§amoOJma Agboë¶m ì¶º$s

~) ¶mo½¶ OmoS>çm Owidm. [5]
   "A' JQ>            "~' JQ>

i) AZw{MV H$m‘Jma àWm A) H$m‘Jmam§Zm emar[aH$ BOm, {df~mYm
qH$dm amoJmMm YmoH$m

ii) Ag§K{Q>V joÌ ~) H$m‘Jmam§À¶m h¸$m§Mo C„§KZ
iii) YmoH$mXm¶H$ à{H«$¶m H$) ZmoH$ar Xaå¶mZ XþImnV
iv) An§JËd bm^ S>) {Zd¥Îmr doVZmgmR>r nmÌ gXñ¶
v) godm{Zd¥Îmr B©) bhmZ Am{U {dIwabobr g§K

àíZ àíZ àíZ àíZ àíZ 2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) (àË¶oH$s 150 eãX) [10]
A) l‘ Am{U amoOJma ‘§Ìmb¶
~) H$maImZm A{Y{Z¶‘mZwgma ""H$maImZm''
H$) H$‘©Mmar amÁ¶ {d‘m H$m¶ÚmZwgma ‘mV¥Ëd bm^
S>) B©nrE’$ H$m¶Xm, 1952 Mr ì¶dhm¶©Vm

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao Úm.
A) AZw{MV H$m‘Jma àWm H$m¶ AmhoV Am{U Ë¶m§Mm ^maVmVrb H$m‘Jmam§À¶m h³H$m§da H$gm

n[aUm‘ hmoVmo? [8]
~) H$maImZm H$m‘Jmam§À¶m H$ë¶mUmgmR>r H$maImZm A{Y{Z¶‘ H$m¶ VaVwXr AmhoV? [7]

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao Úm.
A) H$‘©Mmar amÁ¶ {d‘m H$m¶Úm§VJ©V "H$‘©Mmar amÁ¶ {d‘m ‘hm‘§S>imMr' ŷ{‘H$m Am{U H$m¶©o

ñnï> H$am. [8]
~) B©nrE’$ H$m¶Xm, 1952 H$‘©Mmè¶m§Mo ¶moJXmZ Am{U ’$m¶Xo ¶m§Mo g§ajU H$go H$aVmo? [7]





Q1) A) Fill in the Blank (any 5) [5]
i) The basic objective of consumers co-operative society is to elimate

____.

a) Company b) Consumer

c) Middleman d) Government

ii) The first consumer co-operative co-operative society was
established by rochadale pioneer in the year _____.

a) 1844 England b) 1845, America

c) 1860, Japan d) 1875, Polland

iii) The district milk producers union is the association of all the primary
dairy societies at _____.

a) National level b) State level

c) District level d) Village level

iv) The first cotton mill in India was establised in _____.

a) Bombay b) Ahemdabad

c) Kanpur d) Madras

v) Large number of co-operatives societies are located at _____ level.

a) Village b) Towns

c) Cities d) Backward area
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vi) National co-operative consumers federation of India is situated at
____.
a) New Delhi b) Mumbai
c) Chennai d) Kolkatta

B) Match the following : [5]
A B

i) P.A.C.S. a) Apex body of co-operative
marketing

ii) Consumer society b) Whole sale market
iii) Super market c) Formed by consumers
iv) Sugar co-operatives d) Primary co-operative society
v) N.A.F.E.D. e) Development of sugar

Industries

Q2) Write short Notes (Any 2) : [10]

a) Objectives of co-operative marketing

b) Features of co-operative marketing

c) Co-operative consumer stores

d) Problems of Dairy co-operatives

Q3) a) State the importance of co-operative marketing. [8]

b) State the functions of primary co-operative society. [7]

Q4) a) State the role of state co-operative consumer federation. [8]

b) State the problems of poultry co-operative societies. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUVohr 5) [5]

i) J«mhH$ ghH$mar g§ñWm§Mm à_yI CÔoe åhUOo .......... Mo CÀMmaZ H$aUo hmò .

A) H§$nZr ~) J«mhH$

H$) _Ü`ñW S>) gaH$ma

ii) am°eS>ob nm`moZr`a `m§Zr nhrbr J«mhH$ ghH$mar gmogm`Q>r ........ `m dfu ñWmnZ
Ho$br.

A) 1844, B§½b§S> ~) 1845, A_o[aH$m

H$) 1860, OnmZ S>) 1875, nmob§S>

iii) {Oëhm XÿY CËnmXH$ g§K hr gd© àmW{_H$ Xÿ½Y gmogm`Q>`m§Mr ..... ñVamdarb g§ñWm
Amho.

A) amï´>r` ñVa ~) amÁ` ñVa

H$) {Oëhm ñVa S>) Jmd ñVa

iv) ^maVmVrb nhrbr gyV{JaUr ......... `m {R>H$mUr ñWmnZ Pmbr.

A) ~m°å~o ~) Ah_Xm~mX

H$) H$mZnwa S>) _Ðmg

v) ghH$mar gmogm`Q>rMm _moR>²̀ m à_mUmda ....... ñVamda AmT>iyZ òVmV.

A) JmdnmVir ~) enZJa

H$) ehao S>) _mJmg ^mJ

P.T.O.
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vi) amï´>r` J«mhH$ ghH$mar g§K ^maVmV ......... `m {R>H$mUr Amho

A) Zdr {Xëbr ~) _w§~B©

H$) MoÝZB© S>) H$mobH$mVm

~) Imbrb OmoS²>`m Owidm. [5]
A ~

i) nr.E.gr.Eg. A) ghH$mar {dnUZ gdm}À` g§ñWm

ii) J«mhH$ gmogm`Q>r ~) KmhÿH$ ~mOma

iii) gyna _mH}$Q> H$) J«mhH$m§Zr ñWmnZ Ho$bobr

iv) gmIa ghH$mar g§ñWm S>) àmW{_H$ H¥$fr ghH$mar g§ñWm

v) Zm\o$S> B) gmIa CX`moJm§Mm {dH$mg

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]
A) ghH$mar {dnUZmMr CX²Xrï>Mo

~) ghH$mar {dnUZmMr d¡{eï> ò

H$) J«mhH$ ghH$mar ^m§S>ma

S>) Xÿ½Y ghH$mar gmogm`Q>`m§À`m g_ñ`m

àíZ àíZ àíZ àíZ àíZ 3) A) ghH$mar {dnUZmMo _hËd gm§Jm [8]

~) àmW{_H$ ghH$mar gmogm`Q>`m§Mr H$m }̀ gm§Jm [7]

àíZ àíZ àíZ àíZ àíZ 4) A) amÁ` ghH$mar J«mhH$ g§KmMr ŵ{_H$m gm§Jm [8]

~) Hw$¸$Q nmbZ  ghH$mar g§ñWm§À`m g_ñ`m gm§Jm [7]





Q1) A) Fill in the blanks (Any 5 out of 7) : [5]

i) __________ overheads are related to the periods, hence they are
termed as period costs.

a) Fixed b) Variable

c) Semi variable d) Direct

ii) Uncontrollable overheads are __________ the control of the
management.

a) Within b) Beyond

c) Decreasing d) Fixed

iii) Overheads absorbed on the basis of absorption ___________.

a) Tools b) Rates

c) Costs d) Price

iv) Under absorption of overheads results in ___________ of cost.

a) Under statement b) Rise

c) Increase d) Inflate

v) _________ is a more specific way of allocating overhead costs
based on “activities” that actually contribute to overhead costs.

a) Marginal costing b) Standard costing

c) Activity-based costing d) Uniform costing
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vi) __________ are business costs that are related to the day-to-day
running of the business.
a) Rent b) Rates
c) Bonus d) Overheads

vii) Asper CAS 15 _______ overheads comprises selling overheads
and distribution overheads.
a) Marketing b) Production
c) Purchase d) Price

B) Match the following : [5]
i) Fixed overheads - CAS - 11
ii) Administrative overheads - money. spent on an activity
iii) Production and Operations - unaffected by variations

overheads
iv) Activity based costing - CAS - 3
v) Cost pools - allocating overhead costs based

on activities

Q2) Short Notes (Any Two out of Four) : [10]
a) Utility of Cost Accounting Standards
b) Need for Activity Based Costing
c) Classification of Overheads
d) Absorption of overheads

Q3) The following data were obtained by Global Summit for the month ended
31st March 2021 from which you are required to calculate the departmental
overhead rate for each of the production department assuming that overheads
are recovered as percentage of Direct Wages : [15]
Particulars Production departments Service departments

‘‘A” ‘‘B” “C” ‘‘X” ‘‘Y”

Direct materials in Rs. 15000 30000 30000 22500 22500

Direct wages in Rs. 30000 45000 60000 15000 30000

Staff numbers No. 1500 2250 2250 750 750

Electricity KWH 6000 4500 3000 1500 1500

Capital value of Assets in Rs. 60000 40000 30000 10000 10000

Area Sq. ft. 1500 2500 500 500 500

Light Points No. 10 16 4 6 4

Other expenses for the period were :
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The overhead Expenses for the period were:

Particulars In Rs.

Power 1100

Lighting 200

Stores Overhead 800

Staff Welfare 3000

Depreciation 30000

Repairs 6000

General Overheads 12000

Rent and Taxes 550

Apportion the overhead expenses of service dept “Y” on the basis of direct
wages and those of service dept “X” in the ratio of 10:6:4 to the Production
Depts.

Q4) Forex Ltd. Fardapur has submitted the cost data below : [15]
Particulars 2020 2021

Rs. Rs.

Actual overheads 500000 648000

Actual Labour Cost 1250000 Increased by 20%

Overheads were absorbed at the same rate as based on actuals for the year
2020. The statement of cost for the year 2021 indicates that direct labour
cost is distributed as follows -

Particulars Rs.

Cost of Sales 1000000

Closing Stock of finished goods 375000

Work-in-progress at the end 125000

Total 1500000

You are required to calculate

a) Overhead absorption rate

b) The amount of overheads under or over absorbed

c) The disposal of Overheads





Q1) A) Fill in the blanks (Any Five) : [1 each]

i) A permutation is an ________ arrangements of r objects taken
from n different objects.

ii) A combination is ______ selection of r objects taken from n
different objects.

iii) Speed of the vehicle is ______ type random variable (r.v).

iv) If a discrete r.v. x  Bernoulli (P = 0.5) then mean of x is ______.•

v) If a discrete r.v. x Poisson (M = 3.6) then value of P(x = 0)
is _______.

vi) Reorder level = minimum level + ______.

B) State whether following statements is True or False. [5]

i) If two events A and B are independent, then their complements A'

and B' are also independent.

ii) A discrete random variable can not take negative values.

iii) Expected value of a constant is zero.

iv) Variance of a r.v. is always non-negative.

v) Mean and Variance of a Poisson distribution are equal.

vi) Set up cost is the cost incured each time an order is placed.
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Q2) Write short notes on the following (Any Two) : [5 each]
a) Define : Sure event, null event, Equally likely events, Simultaneous

occurrence of the two events, occurrence of at least one of
the two events.

b) Define : Bernoulli trials, probability mass function (p.m.f.) of Binomial
distribution, state its mean, variance and standard-deviation
(s.d.)

c) Define Poisson distribution, state its p.m.f., mean, variance, s.d., state
its additive property.

d) Define : Meaning and necessity of inventory control, Lead time, Re-
order level, Buffer stock.

Q3) a) Attempt the following :
i) Obtain the probability distribution of the number of sixes in two

tosses of a die. Also obtain expected value of no. of sixes. [4]
ii) The joint p.m.f. of (x – y) is as follows :

y
x 0 1 2

     –1 0.1 0.2 0.3
     1 0.1 0.1 0.2

Obtain conditional probability distribution of x given (y = 0). [4]
b) Attempt the following :

i) If x  Poisson (m) with p(x = 1) = 2. p(x = 2) then find p.m.f. of x.
Also state its mean and variance. [4]

ii) State Baye's theorem. [3]

Q4) a) Attempt the following :
i) If x and y are two independent binomial variates with

1B 5, , B 4,
2 2

x y
æ ö æ ö1÷ ÷ç ç ÷ ÷ç ç÷ ÷ç çè ø è ø  then find ( 0) , 3

2
x yp x y p

æ ö+ ÷ç+ = ³ ÷ç ÷çè ø ,

(3( ) 6)p x y+ £ . [4]
ii) The joint p.m.f. of (x – y) is as follows :

(x, y) (0, –1) (0, 1) (1 –1) (1, 1)
p(x, y) 2/25 3/25 8/25 12/25

Are x & y independent? [4]
b) Attempt the following :

i) Obtain the expected value of number of heads when three fair coin
is tossed simultaneously. [4]

ii) Define : Deterministic inventory model, probabilistic inventory model.
[3]





Q1) A) Fill in the blanks: (Any five) [5]
i) MSME is also known as ______.

a) DIC Registration Portal
b) UDYAM Registration Portal
c) Entrepreneurship Registration Portal

ii) India’s first consultancy services provider Technical Consultancy
Organization in the year 1972, commenced in the ______ state.
a) Kerala b) Gujarat
c) Karnataka

iii) Large Scale Projects are example of______ project.
a) Demographic b) Magnitude Oriented
c) Sectoral

iv) Primary Data is _______.
a) The most important data
b) New data specifically collected for a project
c) Data that is collected from journal

v) SIDBI was set up as a subsidiary of_______
a) IDBI b) IFCI
c) SFC

vi) SFC stands for _______
a) State Financial Committee
b) State Financial Corporation
c) State Funding Corporation
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B) Match the following : [5]
Group A Group B

1) Business Planning a) 1962
2) MSME Act b) No profit No loss
3) Break Even Analysis (BEA) c) Project Report
4) MIDC d) Investment in machinery is

less or equal to 25 Lakh
5) Micro Production Area e) 2006

Q2) Write short notes on. (Any Two) [10]
a) Business Opportunity
b) Limits of MSME
c) District Industries Centre (DIC)
d) Project Appraisal

Q3) a) Explain the Challenges of MSME in India. [8]
b) Explain the UDYAM Registration Portal. [7]

Q4) a) Define Project. Explain the classification of project. [8]
b) Explain the functions of Khadi and Village Industries Commission (KVIC)

[7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]
i) MSME bm ........... åhUyZ XoIrb AmoiIbo OmVo.

A) DIC Zm|XUr nmoQ>©b
~) UDYAM Zm|XUr nmoQ>©b
H$) CX²¶moOH$Vm Zm|XUr nmoQ>©b

ii) ^maVmVrb n{hbr g„mJma godm àXmVm Vm§{ÌH$ g„mJma g§ñWm 1972 ‘Ü¶o ...........
amÁ¶mV gwê$ Pmbr.
A) Ho$ai ~) JwOamV
H$) H$Zm©Q>H$

iii) ‘moR²>¶m à‘mUmdarb àH$ën ho ........... àH$ënmMo CXmhaU Amho.
A) bmoH$g§»¶memñÌr¶ ~) n[a‘mUdmMH$
H$) joÌr¶

iv) àmW{‘H$ ‘m{hVr hr ......... Amho.
A) gdm©V ‘hËdmMr ‘m{hVr
~) ZdrZ ‘m{hVr {deofV: EImX²¶m àH$ënmgmR>r Jmoim Ho$bobr
H$) {Z¶VH$m{bH$m ‘YyZ Jmoim Ho$bobr ‘m{hVr

v) SIDBI Mr ñWmnZm ........... Mr CnH§$nZr åhUyZ H$aÊ¶mV Ambr?
A) IDBI ~) IFCI
H$) SFC

vi) SFC åhUOo ..........
A) amÁ¶ Am{W©H$ g{‘Vr ~) amÁ¶ {dÎm ‘hm‘§S>i
H$) amÁ¶ {ZYr ‘hm‘§S>i

3 P.T.O.
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~) OmoS>çm Owidm. [5]
   JQ> "A'            JQ "~' >

i) ì¶dgm¶ {Z¶moOZ A) 1962
ii) E‘EgE‘B© H$m¶Xm ~) Z’$m Zm VmoQ>m
iii) g‘ {dÀN>oXZ {díbofU (BEA) H$) àH$ën Ahdmb
iv) MIDC S>) ¶§Ì gm‘J«r ‘Ybr Jw§VdUyH$ 25

bmI EdT>r qH$dm H$‘r Amho
v) gyú‘ CËnmXZ joÌ B) 2006

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr XmoZ) [10]
A) ì¶dgm¶mMr g§Yr
~) MSME À¶m ‘¶m©Xm
H$) {Oëhm CX²¶moJ H|$Ð (DIC)
S>) àH$ën ‘yë¶m§H$Z

àíZ àíZ àíZ àíZ àíZ 3) A) ^maVmVrb MSME Mr AmìhmZo ñnï> H$am. [8]
~) UDYAM Zm|XUr nmoQ>©bMo ñnï>rH$aU X²¶m. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) àH$ënmMr ì¶m»¶m H$am. àH$ënmMo dJuH$aU ñnï> H$am. [8]
~) ImXr Am{U J«m‘moX²¶moJ ‘§S>imMr (KVIC) H$m¶©o ñnï> H$am. [7]





Q1) A) Fill in the Blanks (any 5) [5]
i) _________ is brand equity.

a) The value of the brand

b) The shareholders’ perception of the brand

c) Relative brand image

d) None of the above

ii) ______ is not an Indian MNC

a) Tech Mahindra b) Unilever

c) Wipro d) All of the above

iii) ______ is the simple and easiest method of forecasting

a) Regression b) Moving average method

c) Extrapolation d) None of the above

iv) Income and Expenditure Account of Non-Profit organization,
generally indicates ________.

a) Surplus / Deficit b) Capital Fund

c) Net Profit / Loss d) All of the above

v) ________ is not a part of the 4 Ps?

a) Product b) People

c) Price d) Place
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vi) Both brand association and brand personality are a part of _____.
a) Brand symbol b) Brand relationship
c) Brand image d) None of the above

B) Match the Pairs. [5]
i) Brand Strategy a) Elastic Demand
ii) Marketing b) Improve the lives of others
iii) Non-Profit Organization c) Target Audience
iv) Branding d) To get people interested
v) Demand e) Type of Marketing

Q2) Write short Notes (Any 2) : [10]

a) Brand Building Strategy

b) The Changing role of Marketing and Markets

c) Need of Marketing of Non-Profit Organization

d) Sales Forecasting Methods

Q3) a) Write importance of Building a Brand Strategy. [8]

b) Write Characteristics of Marketing of Non-Profit Organization. [7]

Q4) a) Explain Types of Demands in Marketing [8]

b) Explain factors affecting on Marketing Organizations. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJr `mo½` eãX {bhm (H$moUVohr 5) [5]
i) .......... ~«±S> B{¹$Q>r Amho.

A) ~«±S>Mo _yë` ~) g_^mJYmaH$m§Mr ~«±S>Mr YmaUm

H$) g§~§{YV ~«±S> à{V_m S>) darbn¡H$s H$mhrhr Zmhr

ii) .......... ^maVr` MNC Zmhr.

A) Q>oH$ _qhÐ ~) `w{Zbrda

H$) {dàmo S>) darbn¡H$s H$mhrhr Zmhr

iii) ....... A§XmO bmdÊ`mMr hr gmonr gai nÕV Amho.

A) à{VJ_Z ~) hbdÊ`mMr gamgar nÕV

H$) EŠgQ´>mnmoboeZ S>) darbn¡H$s H$mhrhr Zmhr

iv) Zm-Z\$m g§ñWoMo CËnÞ Am{U IM© ImVo, gmYmaUnUo ........ Xe©dVo.

A) A{Yeof / VyQ> ~) ^m§S>dbr {ZYr

H$) {Zìdi Z\$m / VmoQ>m S>) darb gd©

v) .......... hm 4 Ps Mm ^mJ Zmhr

A) CËnmXZ ~) bmoH$

H$) qH$_V S>) {R>H$mU

vi) ~«±S> Agmo{gEeZ Am{U ~«±S> ì`{º$_Ëd ho XmoÝhr ........ Mm EH$ ^mJ AmhoV.

A) ~«±S> {MÝh ~) ~«±S> g§~§Y

H$) CËnmXZ {MÌ S>) darbn¡H$s H$mhrhr Zmhr

P.T.O.
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~) OmoS²>`m Owidm. [5]
i) ~«±S> YmoaU A) bd{MH$ _mJUr

ii) {dnUZ ~) BVam§Mo OrdZ gwYma

iii) {dZm - Z\$m g§ñWm H$) b{jV Xe©H$

iv) ~«±qS>J S>) bmoH$m§Zm ñdmañ` {_iÊ`mgmR>r

v) _mJUr B)  _mH}$qQ>JMm àH$ma

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]
A) ~«±S> {~pëS>¨J YmoaU

~) _mH}$qQ>J Am{U _mH}$Q²>gMr ~XbVr ŷ{_H$m

H$) Zm- Z\$m g§ñWoÀ`m {dnUZmMr JaO

S>) {dH«$s A§XmO nÕVr

àíZ àíZ àíZ àíZ àíZ 3) A) ~«±S> ñQ´>°Q>oOr V`ma H$aÊ`mMo _hÎd {bhm. [8]

~) Zm-Z\$m g§ñWoÀ`m {dnUZmMo d¡{eï²> ò {bhm. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) _mH©o$qQ>J_Yrb _mJÊ`m§Mo àH$ma ñnï> H$am. [8]

~) {dnUZ g§ñWm§da n[aUm_ H$aUmao KQ>H$ ñnï> H$am. [7]





Q1) A) Fill in the blanks. (Attempt any 5 out of 6) : [5]
i) The major problem of Agro Industry is ________.

(Lack of Capital, Lack of Knowledge, Lack of Human resources,
Lack of Willingness)

ii) Agricultural produce marketing is a link between.
(farmers, the farm and the non-farm sectors, farmers and
intermediaries, intermediaries and consumers)

iii) The APLM act was passed in ________.
(2014, 2017, 2011, 2018)

iv) The NABARD provides a ________ to the agriculture sector.
(Finance, Seeds, Fertilizers, Pesticides)

v) Which of the following is the quality certification mark for
agricultural produce?
(BIS, AGMARK, ISO 2001, ISI)

vi) _______ is an Agro based Industry.
(Steel Industry, Plastic Industry, Metal Industry, Sugar Industry)

B) Match the following : [5]
i) Agro Processing Industry a) Problem of Agricultural

Marketing
ii) Lack of Capital b) Reduction in Govt ownership
iii) Deregulation c) e-NAM
iv) Disinvestment d) Jute Industry
v) Electronic Marketing e) Problem of Public Sector

Total No. of Questions : 4]
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Q2) Write a short note (Any 2 out of 4) : [10]

a) Importance of Agricultural Processing Industry

b) Problems of Sugar Industries

c) Food retail Marketing system in India

d) Future Economic Reforms

Q3) a) Explain the importance of Agro based industries. [8]

b) Describe the scope of agricultural marketing system in India. [7]

Q4) a) Explain the problems of public sector industries. [8]

b) Describe the recent agricultural marketing policy of India. [7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr nmM) … [5]
i) ................ hr H¥$fr CÚmoJm§Mr gdm©V _hËdm§Mr g_ñ`m Amho.

(^m§S>dbmMm A^md, kmZmMm A^md, _mZdr ^m§S>dbmMm A^md, BÀN>m eº$sMm
^md)

ii) H¥$fr _mb {dnUZ .................. _Ü`o _Ü`ñW åhUyZ H$m_ H$aVo.
(eoVH$ar, H¥$fr Am{U H¥$frVa joÌ, eoVH$ar Am{U _Ü`ñW, _Ü`ñW Am{U J«mhH$)

iii) APLM H$m`Xm ................ _Ü`o g_V H$aÊ`mV Ambm.
(2014, 2017, 2011, 2018)

iv) Zm~mS>© _m\©$V ................ Mm H¥$fr joÌmg nwadR>m Ho$bm OmVmo.
({dÎm, {~`mUo, IVo, H$sQ>H$ZmeHo$)

v) ................. _m\©$V H¥$fr CËnmXZm§Mr JwUdÎmm à_mUrH$aU Ho$bo OmVo.
(BIS, AGMARK, ISO 2001, ISI)

vi) ............... hm H¥$fr AmYm[aV CÚmoJ Amho.
(bmoI§S> CÚmoJ, ßbmpñQ>H$ CÚmoJ, YmVy CÚmoJ, gmIa CÚmoJ)

~) `mo½` OmoS>çm bmdm … [5]
i) H¥$fr à{H«$`m CÚmoJ A) H¥$fr {dnUZmMr g_ñ`m
ii) ^m§S>dbmMm A^md ~) emgZmÀ`m _mbH$s hŠH$mV KQ>
iii) {d{Z §̀ÌU H$) B©-Zm_
iv) {ZJªwVdUyH$ S>) VmJ CÚmoJ
v) BboŠQ´>mo{ZH$ {dnUZ B©) gmd©O{ZH$ CÚmoJm§Mr g_ñ`m

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr XmoZ) … [10]

A) H¥$fr à{H«$`m CÚmoJm§Mo _hËd

~) gmIa CÚmoJm§À`m g_ñ`m

H$) ^maVmVrb AÞ {H$aH$moi {dnUZ ì`dñWm

S>) ^mdr Am{W©H$ gwYmaUm

àíZ àíZ àíZ àíZ àíZ 3) A) H¥$fr AmYm[aV CÚmoJmMo _hËd ñnï> H$am. [8]

~) ^maVmVrb H¥$fr {dnUZ ì`dñWoMr ì`már {deX H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) gmd©O{ZH$ joÌmVrb CÚmoJm§À`m g_ñ`m ñnï> H$am. [8]

~) AbrH$S>rb H¥$fr {dnUZ YmoaU {deX H$am. [7]


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Q1) Attempt any five of the following : [5 × 2 = 10]

a) What is Joint Common Test Set (JCTS)?

b) What is security?

c) Define finance.

d) State the meaning of development.

e) Define budget.

f) Define defence budget.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Line of Actual Control (LAC)

b) DPSU’S

c) Ministry of defence

d) SCO-Shanghai Cooperation Organisation

e) Equipment

SEAT No. :

P.T.O.
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Write the weapons procurement policies in India since 1947.

b) Explain basic aims and objectives of Defence public sector undertaking.

c) State the role of the US Pacific Air Forces (PACAF).

d) Explain the political aspects of defence production.

e) State the future prospects of the defence debate.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) State the India’s Missile Systems.

b) State the role of the department of Defence production.

c) Explain in detail information and role of Defence public sector
undertakings.


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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) Om°B©Z H$m°_Z Q>oñQ> goQ> åhUOo H$m`?

~) gwajm åhUOo H$m`?

H$) \$m`ZmÝg ì`m»`m Úm.

S>) {dH$mgmMm AW© gm§Jm.

B) AW©g§H$ën ì`m»`m Úm.

\$) g§ajU AW©g§H$ën ì`m»`m Úm.

àíZ 2) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) bmB©Z Am°\$ E°ŠÀ ẁAb H§$Q´>mob (Eb. E. gr.)

~) S>r nr Eg `w

H$) g§ajU _§Ìmb`

S>) Eg gr Amo-em§Km` H$moAnaoeZ Am°J©Zm`PoeZ

B) eñÌmñÌo

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) 1947 Z§VaMo eñÌmñÌo IaoXr YmoaU {bhm.

~) g§ajU CËnmXZmVrb gmd©O{ZH$ joÌmMr _wi Ü ò̀  Am{U C{Ôï>o ñnï> H$am.

H$) ẁ Eg n°{g{\$H$ EAa \$mog© Mr ŷ{_H$m gm§Jm.

S>) g§ajU CËnmXZmVrb amOH$s` n¡by ñnï> H$am.

B) g§ajU dmXmÀ`m ^{dî`mVrb eŠ`Vm gm§Jm.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) ^maVmMr jonUmñÌ àUmbr gm§Jm.

~) g§ajU CËnmXZ {d^mJmMr ŷ{_H$m g{dñVa ñnï> H$am.

H$) gmd©O{ZH$ CËnmXZ {d^mJmMr _m{hVr d ŷ{_H$m g{dñVa ñnï> H$am.





Q1) A) Fill in the blanks. (Attempt any 5 out of 7) [5]
i) Risk management is concerned with _______

a) Arranging and controlling of activities
b) Planning, arranging and controlling of activities
c) Managing of funds
d) Controlling

ii) Which One of the Following, is the Basic Insurance Legislation of
the Country, that governs Insurance Business in India?
a) Insurance Act, 1938
b) Insurance Regulatory and Development. Authority (I.R.D.A)

Act, 1999.
c) Deposit Insurance and Credit Guarantee Corporation

Act, 1961.
d) Public Liability Insurance Act, 1991.

iii) Risk is evaluated on the basis of________ theory
a) Variability b) Contingency
c) Probability d) Risk

iv) Which types of insurance usually requires lower premium?
a) Group insurance b) Whole life insurance
c) Health insurance d) Term insurance

Total No. of Questions : 4]
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v) Risk insured against death is a contract of ________
a) Agreement b) Permission
c) Assurance d) Caveat emptor

vi) When does a policy lapse?
a) No premium paid b) Sickness
c) Address change d) Leaving the city

vii) For an Insurance Claim to be paid, the Associated Loss, incurred
due to the Risk, must be definite and ________
a) Measurable b) Critical
c) Marginal d) None of these

B) Match the following. [5]
i) Fundamental Risk a) Unemployed
ii) Particular Risk b) Stable Environment
iii) Static Risk c) Accident
iv) Pure Risk d) Physical disability
v) Individual Risk e) Natural disasters

Q2) Write short notes (Any 2 out of 4) [10]
a) Surrender Value
b) Risk Prevention and Avoidance
c) Pricing Objectives
d) Consumer Protection Act 1986

Q3) a) Explain various types of premiums. [8]
b) State the Insurance and Risk Management Techniques? [7]

Q4) a) Explain in detail Rate Computation. [8]
b) Explain the important clause under Public Liability Insurance Act 1991.[7]


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (7 n¡H$s H$moUVohr 5 gmoS>dm) [5]
i) OmoIr‘ ............. ì¶dñWmnZmer g§~§{YV Amho.

A) H$m‘H$mOmMr ì¶dñWm Am{U {Z¶§ÌU
~) H$m‘H$mOmMo {Z¶moOZ, ì¶dñWm Am{U {Z¶§ÌU
H$) {ZYr ì¶dñWmnZ
S>) {Z¶§ÌU R>odUo

ii) Imbrbn¡H$s H$moUVm ^maVmVrb {d‘m ì¶dgm¶mMo g§MmbZ H$aUmao XoemMo ‘yb ŷV
{d‘m H$m¶Xo Amho?
A) {d‘m H$m¶Xm 1938
~) {d‘m {Z¶m‘H$ Am{U {dH$mg àm{YH$aU (Am¶. Ama. S>r. E.) H$m¶Xm,

1999
H$) R>odr {d‘m Am{U nV h‘r H$m°nm}aoeZ H$m¶Xm, 1961
S>) gmd©O{ZH$ Xm{¶Ëd {d‘m H$m¶Xm, 1991

iii) OmoI‘rMo ‘yë¶‘mnZ ........... {gÕm§VmÀ¶m AmYmao Ho$bo OmVo.
A) n[adV©ZerbVm ~) AmH$pñ‘H$Vm
H$) g§̂ mì¶Vm S>) OmoIr‘

iv) H$moUË¶m àH$maÀ¶m {då¶mgghgm H$‘r {d‘m hám AgVmo?
A) g‘yh {d‘m ~) g§nyU© OrdZ {d‘m
H$) Amamo½¶ {d‘m S>) ‘wXV {d‘m

v) ‘¥Ë¶yÀ¶m OmoI‘rda {d‘m CVadUo hm EH$ .......... Amho.
A) g§‘Vr ~) nadmZJr
H$) AmídmgZ S>) IaoXrXma gmdY ahmUo

3 P.T.O.
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vi) nm°{bgr Ho$ìhm g§nob?
A) {d‘m hám {Xbo Zm{hV Va ~) AmOmanUm‘wio
H$) nÎmm ~Xbë¶m‘wio S>) eha gmoS>V Agë¶mZo

vii) {d‘m Xmì¶mgmR>r OmoI‘r‘wio Pmbobm g§~Õ VmoQ>m ^amdm ¶mgmR>r {ZpíMV Am{U
.......... AgUo Amdí¶H$ Amho.
A) ‘moOÊ¶m¶mo½¶ ~) J§^ra
H$) {H$aH$moi S>) ¶mn¡H$s Zmhr

~) OmoS>çm Owidm. [5]
i) ‘yb ŷV OmoIr‘ A) ~oamoOJma

ii) {d{eï> OmoIr‘ ~) pñWa n¶m©daU

iii) pñWa OmoIr‘ H$) AnKmV

iv) ewÕ OmoIr‘ S>) emar[aH$ An§JËd

v) d¡¶{º$H$ YmoH$m B©) Z¡g{J©H$ AmnÎmr

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (4 n¡H$s H$moUVohr 2) [10]

A) g‘n©U ‘yë¶

~) OmoIr‘ à{V~§Y Am{U Q>miUo

H$) qH$‘VrMr C{Ôï>o

S>) J«mhH$ g§ajU H$m¶Xm 1986

àíZ àíZ àíZ àíZ àíZ 3) A) {då¶mÀ¶m hßË¶mMo {d{dY àH$ma ñnï> H$am. [8]

~) {d‘m Am{U Omo{I‘ ì¶dñWmnZ V§Ìo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) XaJUZmMo Vnerbdma dU©Z H$am. [8]

~) gmd©O{ZH$ Xm{¶Ëd {d‘m H$m¶Xm 1991 A§VJ©V ‘hÎdmMo H$b‘ ñnï> H$am. [7]





Q1) A) Fill in the Blanks. [5]
i) FTP Stands for _______.

a) Fine Transfer Protocol b) File Transfer Protocol

c) First Transfer Protocol d) Fast Transfer Protocol

ii) A _______ is a set of computers that are connected so they can
share information.

a) computer network b) nodes

c) Hub d) Router

iii) A ____________ is an address generated by the CPU during
program execution.

a) Physical address b) Locator

c) Rote device d) Logical address

iv) _______ is a type of network topology in which all devices in the
network are interconnected.

a) Mesh topology b) Ring topology

c) Bus topology d) Tree topology

v) Network architecture refers to the way network devices and services
are structured to serve the connectivity needs of ______ devices.

a) producers b) client

c) retailers d) wholesalers
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B) Match the following. [5]
a) WAN i) guided media
b) Ethernet ii) wireless network connection
c) Flipkart iii) Wide Area Network
d) Twisted Pair Cables iv) e-commerce company
e) Wi-Fi v) wired system

Q2) Short Notes (Any 2 out of 4) : [10]

a) Wired LANs

b) Bluetooth

c) Modes of Communication

d) Infrared Transmission

Q3) a) What is Computer Topology? Explain types of Networks in detail. [8]

b) Explain layers in the OSI Model and explain the functions of each layer.
[7]

Q4) a) Define Network Interface Cards. Explain the functions of Network
Interface Card. [8]

b) What is E-Commerce ? Explain digital methods of payments. [7]


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Q1) A) Fill in the blanks with most appropriate answer (any 5) : [5]

i) Financial Management is concerned with ______

a) Raising Finance

b) Utilizing Finance

c) Raising, and effectively utilizing finance towards achieving firm’s
goals

ii) _____ is considered as the life blood of business.

a) Finance

b) Human

c) Management

iii) Capital Market includes both primary market and _______

a) Capital market

b) Primary market

c) Secondary market

iv) Bombay stock exchange is located at _______

a) Delhi

b) Kolkatta

c) Mumbai
P.T.O.
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v) Commercial papers are issued to raise _______
a) Short term funds
b) Medium term funds
c) Long term funds

vi) Repurchase agreement (REPO) market in India was introduced
by ______ .
a) IRDA
b) RBI
c) SEBI

B) Match the pairs : [5]
Group - A Group - B

i) Bonds a) Credit Rating Agency
ii) CRISIL b) Primary Market
iii) Stock Exchange c) Lessor and Lessee
iv) IPO d) Trade of Securities
v) Lease Agreement e) Issued by Government and

corporates

Q2) Write short notes on (any 2) : [10]
a) Concepts of Financial Statements
b) Techniques of Financial Analysis
c) Pay Back Period Method
d) New Trends in Financial Management

Q3) a) What is capital market? Explain recent trends in capital market. [8]
b) Discuss RBI as a Regular of Indian Financial System. [7]

Q4) a) Explain various capital budgeting techniques. [8]
b) Explain various factors affecting working capital requirements. [7]


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶mMr {ZdS> H$ê$Z [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) {dÎmr¶ ì¶dñWmnZ ............. er g§~§{YV Amho.

A) {dÎm C^maUr

~) {dÎm dmnaUo

H$) H§$nZrMr C{Ôï>o gmÜ¶ H$aÊ¶mgmR>r {dÎm C^maUo Am{U à^mdrnUo dmnaUo

ii) ............ ì¶dgm¶mMo OrdZ aº$ ‘mZbo OmVo.

A) {dÎm

~) ‘mZd

H$) ì¶dñWmnZ

iii) ^m§S>dbr ~mOmam‘Ü¶o àmW{‘H$ ~mOma Am{U ............. ¶m XmoÝhrMm g‘mdoe hmoVmo.

A) ^m§S>dbr ~mOma

~) àmW{‘H$ ~mOma

H$) Xþæ¶‘ ~mOma

iv) ‘w§~B© ^mJ ~mOma (~m°å~o ñQ>m°H$ E³gM|O) ........... ¶oWo Amho.

A) {X„r

~) H$mobH$mVm

H$) ‘w§~B©
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v) ì¶mdgm{¶H$ H$mJXnÌo (H$‘{e©¶b nona) ............... dmT>dÊ¶mgmR>r {Xbr OmVmV.

A) AënH$mbrZ {ZYr

~) ‘Ü¶‘ ‘wXVrMo {ZYr

H$) XrK©H$mbrZ {ZYr

vi) ^maVmVrb nwZI©aoXr H$ama (REPO) ~mOma .............. Ûmao gmXa H$aÊ¶mV Ambm.

A) IRDA
~) RBI
H$) go~r

~) OmoS>çm bmdm. [5]
JQ> A JQ> ~

i) ~m±S²>g A) H«o${S>Q> aoqQ>J EOÝgr

ii) {H«${gb ~) àmW{‘H$ ~mOma

iii) ^mJ ~mOma H$) nÅ>oXma Am{U ^mS>oH$ê$

iv) IPO S>) amo»¶m§Mm ì¶mnma

v) brO H$ama B) gaH$ma Am{U H$m°nm}aoQ>Ûmao Omar

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) {d{Îm¶ {ddaUm§À¶m g§H$ënZm

~) {d{Îm¶ {díbofUmMo V§Ìo

H$) naV naVmdm (no ~°H$) H$mbmdYr nÕV

S>) {d{Îm¶ ì¶dñWmnZmVrb ZdrZ àdmh

à.à.à.à.à.3) A) ^m§S>db ~mOma åhUOo H$m¶? ^m§S>dbr ~mOmamVrb AbrH$S>rb àdmh ñnï> H$am. [8]
~) ^maVr¶ {dÎmr¶ ì¶dñWoMm {Z¶m‘H$ åhUyZ ^maVr¶ [aPìh© ~±H$ (RBI) da MMm© H$am. [7]

à.à.à.à.à.4) A) ^m§S>dbr A§XmOnÌH$mMo {d{dY V§Ìo ñnï> H$am. [8]
~) IoiË¶m ^m§S>dbmÀ¶m JaOm§da n[aUm‘ H$aUmao {d{dY KQ>H$ ñnï> H$am. [7]


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Q1) A) Fill in the blanks (any five) : [5]
i) Which of the following matters whose special knowledge and practical

experience is not essential to be on the Board of Directors of a
banking company under section 10 (A) of the Banking Regulation
Act, 1949?
a) Accountancy b) Banking
c) Costing d) Cooperation

ii) Under which section of the Banking Regulation Act, 1949 is the
balance sheet and profit and loss account prepared by banking
companies.
a) 28 b) 29
c) 30 d)  31

iii) Who among the following is the Holder of a negotiable instrument?
a) Payee b) Drawer
c)  Drawer’s Bank d) Payee of a post dated cheque

iv) Who could be an adjudicating authority in case of insolvency
resolution and liquidation for corporate persons?
a) National Company Law Tribunal
b) Banking Ombudsman
c) Reserve bank of India
d) High Court

P.T.O.
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v) In case of the complaints against banks under the Banking
Ombudsman Scheme, 2006 the appellate authority would be
a) Governor, RBI
b) Union Finance Minister
c) Finance Minister of the state concerned
d) Deputy Governor, RBI in charge of the department

implementing the scheme
vi) _______ means a corporate person who owes a debt to any person.

a) Individual debtor b) HUF debtor
c) Equity holder d) Corporate debtor

B) Match the following : [5]
i) Audit of a banking company a) 2016
ii) Insolvency and Bankruptcy Code b) 2021
iii) The RBI, Integrated c) Section-30 of the Banking

Ombudsman Scheme Regulation Act, 1949
iv) Protest for better security d) Unconditional order
v) Bill of Exchange e) Negotiable Instruments Act, 1881

Q2) Short notes on (any 2) : [10]
a) Definition of Banking as under section 5 of the Banking Regulation

Act, 1949.
b) Holder in due course
c) Effects of endorsement
d) Procedure for filing complaint under Banking Ombudsman Scheme, 2006.

Q3) a) Explain in detail the maintenance of percentage of assets with reference
to section 24 of the Banking Regulation Act, 1949. [8]

b) Define a cheque as under section 6 of the Negotiable Instruments
Act, 1881. State the features of cheque. [7]

Q4) a) What are the powers and duties of the liquidator appointed for the
liquidation of the corporate debtor. (Section 35 Insolvency and Bankruptcy
Code, 2016). [8]

b) Explain some important provisions of the Banking Ombudsman Scheme,
2006 pertaining to ‘Grounds of Complaints’ as under clause 8 of the
scheme. [7]


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[6224]-519
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ADVANCED BANKING AND FINANCE
356 - B : Banking Law and Practice in India - I

(2019 Pattern) (Semester - V) (Credit System) (Special Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) CÎmao ‘wÔogyX d g§~§{YV H$m¶ÚmVrb ¶mo½¶ Ë¶m H$b‘m§Zm AZwgê$Z XçmdrV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) ¶mo½¶ Vmo n¶m©¶ {ZdSy>Z Jmiboë¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ~±qH$J {Z¶‘Z H$m¶Xm, 1949 Mo H$b‘ 10(A) A§VJ©V ~±Ho$À¶m {Z¶‘Z ‘§S>imda
{Z¶wº$sgmR>r Imbrbn¡H$s H$moUË¶m {df¶mMo {deof kmZ d àË¶j AZŵ dmMr JaO ZgVo?

A) boIm ~) ~±qH$J

H$) H$m°pñQ>¨J S>) ghH$ma

ii) ~±qH$J {Z¶‘Z H$m¶Xm, 1949 À¶m H$moUË¶m H$b‘m§VJ©V ~±qH$J ì¶dgm¶ g§ñWm Vmio~§X
Am{U Z’$m VmoQ>m nÌH$ V¶ma H$aVo?

A) 28 ~) 29

H$) 30 S>) 31

iii) Imbrbn¡H$s H$moU MbZj‘ XñVoEodOmMm YmaH$ Amho?

A) AXmVm ~) AmXoeH$

H$) AmXoeH$mMr ~±H$ S>) ^{dî¶mVrb VmaIoda H$mT>boë¶m
YZmXoemMm AXmVm

iv) H$m°nm}aoQ> ì¶º$sMo {b¹$sS>oeZ H$aÊ¶mgmR>rMm {ZdmS>m A{YH$mar H$moU hmoD$ eH$Vmo.

A) amï´>r¶ H§$nZr H$m¶Xm Ý¶m¶m{YH$aU ~) ~±qH$J bmoH$nmb

H$) ^maVr¶ [aPìh© ~±H$ S>) Cƒ Ý¶m¶mb¶
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v) ~±qH$J bmoH$nmb ¶moOZm, 2006 A§VJ©V ~±Ho$À¶m {damoYmVrb VH«$margmR>r A{nbmMo A{YH$mar
H$moU Agy eH$Vo?
A) ^maVr¶ [aPìh© ~±Ho$Mo JìhZ©a
~) H|$Ðr¶ {dÎm ‘§Ìr
H$) g§~§{YV amÁ¶ gaH$maMo {dÎm ‘§Ìr
S>) gXa ¶moOZoMr A§‘b~OmdUr H$aUmè¶m {d^mJmMo à‘yI, ^maVr¶ [aPìh© ~±Ho$Mo,

S>oß¶wQ>r JìhZ©a
vi) H$moUË¶mhr ì¶º$sMr F$UH$mo AgUmar H$m°nm}aoQ> ì¶³Vr åhUOo ...................?

A) d¡¶{º$H$ H$O©Xma ~) H$O©Xma qhXÿ A{d^m{OV Hw$Q>§w~
H$) B{¹$Q>r YmaH$ S>) H$m°nm}aoQ> H$O©Xma

~) OmoS>çm bmdm. [5]
i) ~±qH$J H§$nÝ¶m§Mo boImnarjU A) 2016
ii) {XdmiImoar Am{U ZmXmar g§{hVm ~) 2021
iii) ^maVr¶ [aPìh© ~±Ho$Mr EH${ÌV H$) ~±qH$J {Z¶‘Z H$m¶Xm, 1949 Mo H$b‘ 30

bmoH$nmb ¶moOZm
iv) A{YH$ Mm§Jë¶m gwa{jVVogmR>r {ZfoY S>>) {~ZeV© AmXoe
v) {d{Z‘¶ nÌ B) MbZj‘ XñVEodO H$m¶Xm, 1881

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ~±qH$J {Z¶‘Z H$m¶Xm, 1949 H$b‘ 5 AÝd¶o ~±qH§$JMr ì¶m»¶m
~) ¶Wm{dYrYmaH$
H$) n¥ð>m§H$ZmMo n[aUm‘
S>) ~±qH$J bmoH$nmb ¶moOZm, 2006 A§VJ©V VH«$ma Zm|X{dÊ¶mMr à{H«$¶m

à.à.à.à.à.3) A) ~±qH$J {Z¶‘Z H$m¶Xm, 1949 ‘Yrb H$b‘ 24 A§VJ©V Agboë¶m VabVm à‘mUmÀ¶m VaVyXr
g{dñVa ñnï> H$am. [8]

~) MbZj‘ XñVEodO H$m¶Xm, 1881 À¶m H$b‘ 6 Zwgma YZmXoemMr ì¶m»¶m H$am. YZmXoemMr
d¡{eï>ço {bhm. [7]

à.à.à.à.à.4) A) {XdmiImoar Am{U ZmXmar g§{hVm, 2016 À¶m H$b‘ 35 A§VJ©V F$UH$mo CÚmoJg§ñWoÀ¶m
{b¹$sS>oeZgmR>r {Z¶wº$ Ho$ë¶m Joboë¶m {b¹$sS>oQ>aMo gm‘Ï¶© Am{U H$V©ì¶. [8]

~) ~±qH$J bmoH$nmb ¶moOZm, 2006 ‘Yrb H$b‘ 8 Imbrb "VH«$matÀ¶m YVu' g§X^m©Vrb H$mhr
‘hÎdnyU© VaVyXr ñnï> H$am. [7]


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Q1) A) Fill in the blank with most appropriate alternative (any five) : [5]

i) The number of structure in India’s GST model is ______

(4, 6, 7, 3)

ii) In IGST ‘I’ stands for ______.

(Internal, Integrated, Intra, Item)

iii) Commissioner may extend the period of audit u/s 65 by a further
period _________.

(15 Days, 1 Month, 2 Months, 3 Months)

iv) _______ a special audit conducted.

(The CGST Officials, The SGST Officials, Chartered Accountant
or Cost Accountant officer)

v) GFA stands for ______.

(General Free Allowance, Global Free Allowance, Gift Free
Allowance, General Flow Allowance)

vi) Customs duty is an instrument of _______.

(Monetary policy, Trade policy, Revenue policy, Fiscal policy)

P.T.O.
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B) Match the following : [5]

Column - A Column - B

i) Custom duty a) Exports and Imports

ii) Corporate tax b) Income of a company

iii) IGST c) On turnover above 40 lacs

iv) First GST filing d) Intra - country

v) Income tax e) Direct tax

Q2) Write a short note (any two) : (Each 5 Mark) [10]

a) Costal goods

b) Exemption under GST

c) Administration of GST

d) Shipping bill

Q3) a) Explain the procedure of clearance of imported Goods. [8]

b) Explain the valuation of goods purpose of assessment. [7]

Q4) a) Explain the registration procedure under GST. [8]

b) Explain the accounting and books to be maintain under GST. [7]


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) ^maVmVrb OrEgQ>r ‘m°S>ob‘Yrb g§aMZoMr g§»¶m ............ Amho.

(4, 6, 7, 3)

ii) Am¶OrEgQ>r ‘Yrb Am¶ Mo {dñVm[aV ................ Amho.

(A§VJ©V, EH$mpË‘H$, B§Q´>m, Am¶Q>‘)

iii) H$b‘ 65 Zygma Am¶wº$ boImn[ajUmMm H$mbmdYr ................ Zo dmT>dy eH$VmV.

(15 {Xdg, 1 ‘{hZm, 2 ‘{hZo, 3 ‘{hZo)

iv) ............. Ûmao {deof Am°{S>Q> Ho$bo OmVo.

(grOrEgQ>r A{YH$mar, EgOrEgQ>r A{YH$mar, gZXr boImnmb, A{YH$mar)

v) OrE’$E Mo {dñVm[aV ................... Amho.

(OZab ’«$s AbmCÝg, ½bmo~b ’«$s AbmCÝg, JrâQ> ’«$s AbmCÝg, OZab âbmo AbmCÝg)

vi) gr‘mewëH$ ho ............. gmYZ Amho.

(MbZ{df¶H$ YmoaU, ì¶mnmar YmoaU, ‘hgyb YmoaU, {dÎmr¶ YmoaU)
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~) OmoS>çm bmdm. [5]

JQ> A JQ> ~

i) CËnmXZ ewëH$ A) AàË¶j H$a

ii) H$mnm}aoQ> H$a ~) H§$nZrMo CËnÞ

iii) Am¶OrEgQ>r H$) 40 bmIm§nojm OmñV CbmT>mbrda

iv) OrEgQ>r bmJy S>) Xoem§VJ©V

v) CËnÞ H$a B) àË¶j H$a

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ~§Xamdarb ‘mb

~) OrEgQ>r A§VJ©V gyQ>

H$) OrEgQ>rMo àemgZ

S>) OhmOmMr nmdVr

à.à.à.à.à.3) A) Am¶mV ‘mb ~m~VÀ¶m ‘§OwargmR>rMr à{H«$¶m ñnï> H$am. [8]

~) ‘mbmÀ¶m ‘yë¶m§H$ZmMm CÔoe ñnï> H$am. [7]

à.à.à.à.à.4) A) OrEgQ>rMr Zm|XUr à{H«$¶m ñnï> H$am. [8]

~) OrEgQ>r A§VJ©V R>odbo OmUmao {heo~ qH$dm boImnwñVHo$ ñnï> H$am. [7]


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Q1) A) Fill in the blanks. [5]

i) Training is –––––– process.

a) Short Term b) Long Term

c) Medium Term d) Production

ii) ––––––– is element of decision making.

a) General Body b) Co-operative Management

c) Investors d) Government

iii) Executive body of Co-operative Society is a –––––– .

a) Members b) Stakeholders

c) Government d) Board of Directors

iv) ––––––– is the function of HR management.

a) Training b) Sales

c) Stores d) None of these
v) The structure of Co-operative Management is of –––––– type.

a) Federal b) Centralized

c) Decentralized d) Autocratic

vi) ––––––– is not a training constitute of Co-operative Management.

a) YASHADA b) Dhananjay Rao Gadgil

c) VAMNI COM d) Sahakar Bharati

P.T.O.
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B) Match the following. [5]

Group A Group B

i) Human Resource a) Co-operative Training Institute

ii) Co-operative Management b) Basic Function of Co-operative

Management

iii) VAMNI COM c) Maximum utilisation

iv) Planning d) HRM Function

v) Training Development e) Management Principles

Q2) Write short notes on (Any two) : [10]

a) Appraisal an evaluation HRM

b) Elements of HRM

c) Evaluation of Co-operative Management

d) Ethics of Co-operative Management

Q3) a) State the Human Relationship in Co-operative. [8]

b) State the Co-operative philosophy in HRD. [7]

Q4) a) State the training and managerial development in HRM. [8]

b) State the objectives of Co-operative Management. [7]





3[6224]-521

Total No. of Questions : 4]

[6224]-521

T.Y.B.Com.
356 D : CO-OPERATION AND RURAL DEVELOPMENT-III

(2019 Pattern) (CBCS) (Semester - V)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) à{ejU hr ........... à{H«$¶m Amho.

A) AënH$mbrZ ~) XrK©H$mbrZ

H$) ‘Ü¶‘ ‘wXV S>) CËnmXZ

ii) ............. hm {ZU©¶ KoÊ¶mMm KQ>H$ Amho.

A) OZab ~m°S>r ~) ghH$mar ì¶dñWmnZ

H$) Jw§VdUyH$Xma S>) gaH$ma

iii) ghH$mar g§ñWoMr H$m¶©H$mar g§ñWm ............. Amho.

A) gXñ¶ ~) ^mJYmaH$

H$) gaH$ma S>) g§MmbH$ ‘§S>i

iv) ............. ho ‘mZd g§gmYZ ì¶dñWmnZmMo H$m¶© Amho.

A) à{ejU ~) {dH«$s

H$) ñQ>moAg© S>) ¶mn¡H$s H$mhrhr Zmhr

v) ghH$mar ì¶dñWmnZmMr aMZm ............. àH$maMr Amho.

A) ’o$S>ab ~) H|$ÐrH¥$V

H$) {dH|${ÐV S>) hþHw$‘emhr

vi) ............ hr ghH$mar ì¶dñWmnZmMr à{ejU g§ñWm Zmhr.

A) ¶eXm ~) YZ§O¶ amd JmS>Jri

H$) VAMNI COM S>) ghH$ma ^aVr
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~) OmoS>çm bmdm. [5]

JQ> "A' JQ> "~'

i) ‘mZd g§gmYZ A) ghH$mar à{ejU g§ñWm

ii) ghH$mar ì¶dñWmnZ ~) ghH$mar ì¶dñWmnZmMo ‘yb ŷV H$m¶©

iii) VAMNI COM H$) OmñVrV OmñV dmna

iv) {Z¶moOZ S>) HRM H$m¶©

v) à{ejU {dH$mg B) ì¶dñWmnZ VËdo

à.à.à.à.à.2) {Q>nm {bhm. (Mma n¡H$s H$moUË¶mhr XmoZ) [10]

A) ‘mZd g§gmYZ ì¶dñWmnZmMo ‘yë¶m§H$Z Am{U ‘yë¶‘mnZ

~) HRM Mo KQ>H$

H$) ghH$mar ì¶dñWmnZmMo ‘yë¶‘mnZ

S>) ghH$mar ì¶dñWmnZmVrb Z¡{VH$Vm

à.à.à.à.à.3) A) ghH$mamVrb ‘mZdr g§~§Y gm§Jm. [8]

~) ‘Zwî¶~i {dH$mgmVrb ghH$mar VÎdkmZmMo dU©Z H$am. [7]

à.à.à.à.à.4) A) ‘mZd g§gmYZ ì¶dñWmnZ ‘Ü¶o à{ejU Am{U ì¶dñWmnH$s¶ {dH$mg gm§Jm. [8]

~) ghH$mar ì¶dñWmnZmMr CX²{Xï>o gm§Jm. [7]


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Q1) A) Fill in the blanks. (Any 5 out of 6) [5×1=5]

a) The break-even point is the point at which total cost and total
revenue are ______,

i) Different ii) equal

iii) exceeding iv) preceding

b) A ______ is an estimation of the cash inflows and outflows for a
business or individual for a specific period of time.

i) cash budget ii) sales budget

iii) production budget iv) Flexible budget

c) ______ is the additional cost incurred when producing one more
unit of a products

i) Marginal costing ii) process costing

iii) contract costing iv) job costing

d) ______ comparison means a comparison of two or more similar
business units

i) Uniform costing ii) Decision making

iii) Inter-firm iv) Income

e) Full form of MIS _______

i) Management Information System

ii) Making Information System

iii) Master Information System

iv) Most Information System

P.T.O.
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f) Marginal costing is also known as _______

i) Variable costing ii) process costing

iii) contract costing iv) job costing

B) Match the following: [5×1=5]

a) Fixed cost i) expense that changes with the
production or sales

b) Margin of safety ii) Sales minus Variable Cost

c) Flexible Budget iii) Actual sales minus break even sales

d) Variable cost iv) expenses that remain the same

e) Contribution v) adjusts for changes in the level of
activity

Q2) Attempt Short Notes (Any 2 out of 4) [10]

a) Terms used in Marginal Costing

b) Types of Budgets

c) Importance of Inter firm comparison

d) Advantages of Budgetory Control

Q3) a) Bajaj Industries Provides the following cost data [8]

Particulars Rs.

Sales 1,50,000

Marginal Cost 1,20,000

Fixed overheads 20,000

Gross profit 60,000

Net profit 40,000

Calculate

i) P/V Ratio

ii) BEP (Sales)

iii) Net Profit when sales are 4,00,000

iv) Sales required to earn a profit of 80,000
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b) What is ‘Management Information System’? State the important
Features of Management Information System. [7]

Q4) a) The Statement given below provides Flexible budget at 60% capacity of
Fine Corporation Ltd. Prepare a tabulated statement giving the budget
figures at 75% capacity and 90% capacity. Make your own classification
of expenses between Fixed, Variable and semivariable expenses. [8]

Particulars 60% capacity

Prime Cost materials 1,60,000

Depreciation 60,000

Productive Wages 40,000

Rent 12,000

Indirect Materials 48,000
Insurance of machinery 12,000

Indirect Labour 40,000

Electric Power (40% Fixed) 8,000

Repairs and Maintenance (60% Fixed) 20,000

b) Explain the term uniform costing. State the advantages & limitations of
Uniform Costing. [7]


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Q1) a) Fill in the blanks (Any five) [5]

i) P-chart is __________ types control chart.

ii) C-chart is used to control number  of ________.

iii) In game theory maximin # __________, then there does not exist
saddle point.

iv) In replacement problem, maintenance cost is always_________.

v) Electric fluctation is belonging to ________ causes

vi) We use ___________ criteria to average the elements of payoff of
corresponding strategy.

b) State whether each of the following statement is true or false (any five)[5]

i) If the value of the game is greater then zero then game is called as
fair game.

ii) P-chart is used to control proportion of defectives.

iii) Control charts are applying on continuous production process.

iv) In replacement problem we can use value of money which remain
the same during the period.

v) If quantity is hand is equal to demand then there does not exists
opportunity loss.

vi) In two person zero-sum game. value of the game is always non-negative.

P.T.O.P.T.O.
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Q2) Attempt any two of the following: [5 each]

a) Solve the following game:

Player B

1 2 3

1

2

3

B B B

A 3 8 4

PlayerA A 10 11 13

A 12 14 8

− 
 
 
  

b) Explain the construction of P charts for number of defectives.

c) State and explain dominance principle in game theory.

d) The number of defects in 10 different carpets are as follows:

1, 0, 2, 3, 1, 2, 1, 3, 0, 0.

Construct C-chart. Comment.

Q3) a) The maintenance cost and resale value per year of a machine whose
purchase price is Rs. 15,000 is given below. [8]

Year 1 2 3 4 5 6 7 8

Maintenance

cost (Rs.) 600 800 1,050 1,400 2,100 3,500 5,000 6,800

Resale value

(Rs.) 12,000 9,500 7,500 5,700 4,200 3,900 2,900 2,000

When should be machine replaced?

b) Write pay-off matrix for the given situation. The demand for cake in the
bakery shop may be 25, 26, 27 and 28 with respective probabilities 0.1,
0.3, 0.5 and 0.1. making cost and selling price of one cake is Rs. 8 and
Rs. 10 respectively. Balance cake is treated as waste. How much cake
should be make using EOL criteria? [7]
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Q4) a) The Following data on the basis of fuses sample of 5 being taken every
hour:

Sample No. 1 2 3 4 5 6 7 8 9 10 11 12

Mean 69.4 63.4 57 64 57.4 82 85 33.4 46 112.4 93.6 95.6

Range 45 48 62 48 36 81 78 42 69 84 48 75

( )2 35,A 0.577,D 0, 4 2.115n D= = = =

Draw control charts for mean and range. Also comment on whether the process
is under control? [8]

b) From the following pay-off table (of profit) determine optimal strategy
using maximin, maxi max, La Place and Hurwicz criterian. (Take α=0.8)[7]

Demand → A1 A2 A3 A4

Stock↓
S1 14 9 10 5

S
2

11 10 8 7

S3 9 10 10 11


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Q1) A) Fill in the blanks. (any 5) [5]

i) Forces affecting organizational behaviour are ______

a) People

b) Environment

c) People and environment

ii) In present context, challenges for organizational behaviour are______

a) Globalization

b) Employee expectation

c) All of the above

iii) Organizations create ________ to standardize employee behaviour.

a) formal regulations

b) Values

c) Terms

iv) Shiv Nadar belonged to _______ state.

a) Maharashtra

b) Tamilnadu

c) Andhra Pradesh

P.T.O.
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v) The extent to which group members are attracted to their group is
known as _________
a) Entitativity
b) Inter- connectedness
c) Cohesiveness

vi) Organizational behaviour is_________
a) a Science
b) an Art
c) a Science and an Art

B) Match the following: [5]
Group A Group B

i) Organizational Behaviour a) Nykaa
Objective

ii) Requisite of individual b) Complicated work
behaviour

iii) Falguni Nayar c) Resolving Conflict
iv) Baba Kalyani d) Reward System
v) Group Task e) Bharat Forge

Q2) Write Short Notes (Attempt Any Two) : [10]
a) Scope of organizational behaviour for entrepreneurship.
b) Emotional Intelligence.
c) Kiran Mazumdar Shaw.
d) Functions of group dynamics in entrepreneurship.

Q3) a) What is organizational behaviour. Explain organizational and individual
competencies. [8]

b) Explain role of personality. [7]

Q4) a) Explain the autobiography of Falguni Nayar. [8]
b) Explain types of group dynamics. [7]





3[6224]-524

Total No. of Questions : 4]

[6224]-524
T.Y.B.Com.
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) g§KQ>ZmË‘H$ dV©Zmda n[aUm‘ H$aUmar eº$s ................

A) bmoH$

~) n¶m©daU

H$) bmoH$ Am{U n¶m©daU

ii) gÜ¶mÀ¶m g§X^m©V, g§KQ>ZmË‘H$ dV©ZmgmR>r AmìhmZo ........... AmhoV.

A) OmJ{VH$sH$aU

~) H$‘©Mmè¶m§Mr Anojm

H$) darb gd©

iii) H$‘©Mmè¶m§Mo dV©Z à‘m{UV H$aÊ¶mgmR>r g§ñWm ............ {Z‘m©U H$aVmV.

A) Am¡nMm[aH$ {Z¶‘

~) ‘yë¶o

H$) AQ>r

iv) {ed ZmS>a ho ............. amÁ¶mMo AmhoV.

A) ‘hmamï´>

~) Vm{‘iZmSy>

H$) Am§Y« àXoe

PB1364
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v) JQ>mVrb gXñ¶ Ë¶m§À¶m JQ>mH$S>o {H$Vr à‘mUmV AmH${f©V hmoVmV Vo ........... åhUyZ AmoiIbo OmVo.

A) ApñVËd

~) nañna g§~§Y

H$) EH$g§KVm

vi) g§ñWmË‘H$ dV©Z ............... Amho.

A) EH$ {dkmZ

~) EH$ H$bm

H$) EH$ {dkmZ Am{U EH$ H$bm

~) OmoS>çm bmdm. [5]
JQ> A JQ> ~

i) g§ñWmË‘H$ dV©Z C{Ôï> A) Zm¶H$m

ii) d¡¶{º$H$ dV©ZmMr Amdí¶H$Vm ~) {H$MH$Q> H$m‘

iii) ’$mëJwZr Zm¶a H$) g§Kf© gmoS>dUo

iv) ~m~m H$ë¶mUr S>) ~jrg àUmbr

v) JQ> H$m¶© B) ^maV ’$moO©

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) CÚmoOH$VogmR>r g§ñWmË‘H$ dV©ZmMr ì¶már.

~) ^md{ZH$ ~w{Õ‘Îmm.

H$) {H$aU ‘wPw‘Xma em°.

S>) CÚmoOH$VoVrb JQ> J{VerbVoMr H$m¶}.

à.à.à.à.à.3) A) g§KQ>ZmË‘H$ dV©Z åhUOo H$m¶? g§ñWmË‘H$ Am{U d¡¶{º$H$ j‘Vm ñnï> H$am. [8]
~) ì¶{º$‘ÎdmMr ŷ{‘H$m ñnï> H$am. [7]

à.à.à.à.à.4) A) ’$mëJwZr Zm¶a ¶m§Mo AmË‘M[aÌ ñnï> H$am. [8]
~) g‘yh J{VerbVoMo àH$ma ñnï> H$am. [7]





Total No. of Questions : 4]

[6224]-525

T.Y.B.Com.
356 (H) : MARKETING MANAGEMENT-III

(2019 Pattern) (CBCS) (Semester - V) (Special Paper-III)

Time : 2½ Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PB1365 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Attempt any 5 out of 6) [5]

i) Consumers are educated about goods and services by –––––– .

a) Market b) Distribution

c) Advertising d) Salesmanship

ii) The motivation that leads consumers to purchase goods and services
is called –––––– .

a) Sales Motivation b) Consumption Motivation

c) Purchase Motivation d) Product Motivation

iii) –––––– it appeals to customers with focus.

a) Customer oriented appeal b) Use oriented appeal

c) Product comparison appeal d) Production oriented apeal

iv) An advertisement that stands the true test of reality in the eyes of
consumers is –––––– .

a) Unethical b) Forgery

c) Online d) Ethical
v) A calculated percentage of how familiar the customer base is with

your brand or product organization is –––––– .

a) Brand Promise b) Brand Name

c) Brand Identity d) Brand Awareness

P.T.O.
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vi) A particular type of picture or image created by a manufacturing
company to identify goods and services is called –––––– .

a) Trademark b) Logo

c) Slogan d) Graphics

B) Match the following. [5]

Group A Group B

i) Advertising a) New Goods of Uniform Brand

ii) Newspapers b) Important Factor in Distribution
Cost

iii) Advertising Message c) Information Conveyed by
Advertisement

iv) Advertising Expenditure d) Print Media

v) Product Line Extension e) Promotion of Goods and
Services

Q2) Write short notes on (Any 2) : [10]

a) E-Advertising

b) Concept of adverising appeal

c) Ethics in Advertising

d) Advertising and Branding

Q3) a) What is Advertisement? Explain the vaious functions of advertisement.[8]

b) Expain the importance of various appeals in advertisement. [7]

Q4) a) Explain the concept of truth in advertisement in detail. [8]

b) What is Branding? Explain the types of branding. [7]


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Total No. of Questions : 4]

[6224]-525

T.Y.B.Com.
356 (H) : MARKETING MANAGEMENT-III
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ........... Ûmao J«mhH$m§Zm dñVy d godo{df¶r {ejU {Xbo OmVo.

A) ~mOmanoR> ~) {dVaU

H$) Om{hamV S>) {dH«$¶H$bm

ii) Á¶m àoaUo‘wio J«mhH$ dñVy d godm IaoXr H$aÊ¶mg àd¥Îm hmoVmV Ë¶mbm ............ Ago
åhUVmV.

A) {dH«$s àoaUm ~) Cn^moJ àoaUm

H$) IaoXr àoaUm S>) dñVy àoaUm

iii) ............ ¶m‘Ü¶o J«mhH$m§da bj H|${ÐV H$éZ AmdmhZ Ho$bo OmVo.

A) J«mhH$m{^‘wI AmdmhZ ~) Cn¶wº$Vm AmdmhZ

H$) dñVy VwbZm AmdmhZ S>) CËnmXZ{df¶H$ AmdmhZ

iv) J«mhH$m§À¶m Ñï>rZo dmñVd Iè¶m H$gmoQ>rbm C‘Q>Umar Om{hamV ............. AgVo.

A) AZ¡{VH$ ~) ~ZmdQ>

H$) Am°ZbmBZ S>) Z¡{VH$

v) J«mhH$dJ© Amnë¶m ~±«S>{df¶r qH$dm CËnmXZ g§ñWo{df¶r {H$VnV n[a{MV Amho ¶mMr H$mT>bobr
Q> o̧$dmar åhUOo ............. hmo¶.

A) ~±«S> dMZ ~) ~±«S> Zmd

H$) ~±«S> AmoiI S>) ~±«S> OmJéH$Vm

PB1365
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vi) dñVy d godm AmoiIÊ¶mgmR>r CËnmXZ H§$nZr EH$ {d{eï> àH$maMo {MÌ qH$dm à{V‘m V¶ma
H$aVo Ë¶mbmM .............. Ago åhUVmV.

A) Q´>oS>‘mH©$ ~) bmoJmo

H$) Kmofdm³¶ S>) J«m{’$³g

~) OmoS>çm Owidm. [5]

JQ>-A JQ>-~

i) Om{hamV A) EH$g‘mZ ~«±S>À¶m ZdrZ dñVy

ii) dV©‘mZnÌo ~) {dVaU IMm©Vrb ‘hËdmMm KQ>H$

iii) Om{hamV g§Xoe H$) Om{hamVrÛmao XoÊ¶mV ¶oUmar ‘m{hVr

iv) Om{hamV IM© S>) N>mnrb ‘mÜ¶‘

v) dñVwaofm {dñVma B) dñVy d godm§Mr à{gÜXr

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) B©-Om{hamV

~) Om{hamV AmdmhZ g§H$ënZm

H$) Om{hamVr‘Yrb Z¡{VH$Vm

S>) Om{hamV d {MÝhm§H$Z

à.à.à.à.à.3) A) Om{hamV åhUOo H$m¶? Om{hamVrMr {d{dY H$m¶©o ñnï> H$am. [8]

~) Om{hamVr‘Yrb {d{dY AmdmhmZm§Mo ‘hËd ñnîQ> H$am. [7]

à.à.à.à.à.4) A) Om{hamVr‘Yrb gË¶Vm hr g§H$ënZm g{dñVa ñnï> H$am. [8]

~) {MÝhm§H$Z åhUOo H$m¶? {MÝhm§H$ZmMo àH$ma ñnï> H$am. [7]


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Q1) A) Fill in the blanks. (Attempt any 5 out of 6) : [5]

i) The SEZ act in India was passed in –––––– .

(2005, 2007, 2009, 2010)

ii) The informal sector loans incorporate is –––––– .

(SBI, Money lenders, NABARD, Commercial banks)

iii) The apex cooperative credit institute works at –––––– .

(Village, District, Tehsil, State)

iv) The agricultural credit is mainly needed for ––––––– .

(Crop Cultivation, Farm Mechanization, Purchasing Farm, adoption
new technologies)

v) The ––––––– sector is very importance for provision of food.

(Industry, Banking, Insurance, Agriculture)

vi) The ––––––– is the formal source of agricultural credit.

(Friends, Money lenders, Commercial Banks, Relatives)

P.T.O.
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B) Match the following: [5]

i) Industrial development a) Credit Society at village level

ii) Primary credit Institution of b) Agricultural Development

Agriculture

iii) Liberalization c) SEZ

iv) Increase the export in economy d) New Industrial Policy

v) Provision of food e) Industrial Policy

Q2) Write a short note (Any 2 out of 4) : [10]

a) Cooperative Credit Organizations

b) Foreign Direct Investment

c) Importance of Agricultural Credit

d) Feature of rural economy

Q3) a) Describe the challenges before the agriculture credit. [8]

b) Explain the types of Agricultural credit. [7]

Q4) a) Explain the interdependence of Agriculture and Industry. [8]

b) Explain the feature of rural economy. [7]


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Total No. of Questions : 4]

[6224]-526

T.Y.B.Com.
356-I: AGRICULTURAL AND INDUSTRIAL ECONOMICS-III

(2019 Pattern) (CBCS) (Semester - V) (Paper-II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ^maVm‘Ü¶o goP Mm H$m¶Xm ............ ¶mdfu g§‘V H$aÊ¶mV Ambm.

(2005, 2007, 2009, 2010)

ii) ............ hm nV nwadR²>¶mMm AZm¡nMm[aH$ ómoV Amho.

(ñQ>oQ> ~±H$ Am°’$ B§{S>¶m, gmdH$ma, Zm~mS>©, ì¶mnmar ~±H$m)

iii$) {eIa ghH$mar g§ñWm ............ ¶m ñVamda H$m¶© H$aVo.

(IoS>o, {Oëhm, VmbwH$m, amÁ¶)

iv) H¥$fr nVnwadR²>¶mMr àm‘w»¶mZo ............ gmR>r Amdí¶H$Vm AgVo.

([nH$ ‘emJV, eoVr AmYw{ZH$sH$aU, eoVr IaoXr, ZdrZ V§ÌkmZmMm Adb§~)

v) ............ ho joÌ AÞ YmÝ¶mMr VaVwX H$aÊ¶mgmR>r ‘hËdmMo AgVo.

(CÚmoJ, ~±qH$J, {d‘m, H¥$fr)

vi) ............ hm H¥$fr nV nwadR²>¶mMm Am¡nMm[aH$ ómoV Amho.

({‘Ì, gmdH$ma, ì¶mnmar ~±H$m, ZmVodmB©H$)

PB1366
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~) ¶mo½¶ OmoS>çm bmdm. [5]

i) Am¡Úmo{JH$ {dH$mg A) IoS>o nmVirdarb nVnwadR>m g§ñWm

ii) àmW{‘H$ H¥$fr nV nwadR>m g§ñWm ~) H¥$fr {dH$mg

iii) CXmarH$aU H$) goP

iv) {Z¶m©V dmT> S>) ZdrZ Am¡Úmo{JH$ YmoaU

v) AÞ YmÝ¶mMr VaVwX B) Am¡Úmo{JH$ YmoaU

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ghH$mar nV nwadR>m g§ñWm

~) {dXoer àË¶j Jw§VdUyH$

H$) H¥$fr nV nwadR²>¶mMo ‘hËd

S>) J«m‘rU AW©ì¶dñWoMr d¡{eï²>¶o

à.à.à.à.à.3) A) H¥$fr nVnwadR²>¶mg‘moarb AmìhmZo ñnï> H$am. [8]

~) H¥$fr nV nwadR²>¶mMo àH$ma ñnï> H$am. [7]

à.à.à.à.à.4) A) H¥$fr d CÚmoJm§Mo nañnamdb§~rËd ñnï> H$am. [8]

~) J«m‘rU AW©ì¶dñWoMr d¡{eï²>¶o ñnï> H$am. [7]


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Q1) Attempt any five of the following: [5×2=10]

a) What is public good?

b) Define micro economics.

c) What is a financial advisor?

d) State the defence budget structure.

e) Define defence five year plan.

f) State the role of the Chief of the Defence Staff (CDS)

P.T.O.
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Q2) Attempt any four of the following: [4×5=20]

a) Ministry of finance

b) Union budget

c) International Telecommunication Union (ITU)

d) Auditor general

e) Financial advisor

Q3) Attempt any four of the following: [4×5=20]

a) Explain about Indian National Space Promotion.

b) Explain principles of the financial system.

c) Explain formulation of Defence five year plan.

d) Explain parliamentary control of the Defence budget.

e) What are the new projects that India is now working on Defence?

Q4) Attempt any two of the following: [2×10=20]

a) Write in detail the defence account department.

b) Explain in detail the structure of a five year defence plan.

c) Where do you see yourself in the next 10 years in Defence?


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[6224]-527

T.Y.B.Com.
356-J: DEFENCE BUDGETING,
FINANCE & MANAGEMENT-III

(Special Paper-III)
(2019 Pattern) (Semester-V)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) n[ãbH$ JwS> åhUOo H$m¶?

~) ‘m¶H«$mo BH$moZm°{‘³g ì¶m»¶m Úm.

H$) ’$m¶Zm{Ýe¶b A°S>ìhm¶Pa åhUOo H$m¶?

S>) g§ajU AW©g§H$ën AmamIS>m gm§Jm.

B) g§ajU n§Mdm{f©H$ ¶moOZm ì¶m»¶m Úm.

’$) Mr’$ Am°’$ X {S>’o$Ýg ñQ>m’$ (CDS) Mr ŷ{‘H$m gm§Jm.

PB1367
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à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) AW© ‘§Ìmb¶

~) gd©gmYmaU AW©g§H$ën

H$) Am§Vaamï´>r¶ Xÿag§Mma g§K (ITU)

S>) Am°{S>Q>a OZab

B) ’$m¶ZmpÝe¶b A°S>ìhm¶Pa

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) B§{S>¶Z Z°eZb ñnog à‘moeZ ~Ôb ñnï>rH$aU Úm.

~) ’$m¶ZmpÝe¶b {gñQ>r‘Mr ‘wbVËdo ñnï> H$am.

H$) g§ajU n§Mdm{f©H$ ¶moOZoMr {Z{‘©Vr ñnï> H$am.

S>) g§ajU AW©g§H$ënmdarb bmoH$g ôMo {Z¶§ÌU ñnï> H$am.

B) ^maVmMo gÜ¶m g§ajUmda H$m¶©aV Agbobo ZdrZ àmoOo³Q> H$moUVo?

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) {S>’o$Ýg AH$mC§Q> {S>nmQ>©‘|Q> g{dñVa {bhm.

~) g§ajU n§Mdm{f©H$ ¶moOZoMm AmamIS>m g{dñVa ñnï> H$am.

H$) nwT>rb 10 dfm©V Vwåhr ñdV…bm g§ajU joÌmV Hw$R>o nmhVm?


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Q1) A) Fill in the blanks (Any 5) [5]

i) The measures aimed at avoiding, eliminating or reducing the chances
of loss production is covered by –––––– .

a) Risk Control

b) Risk Avoidance

c) Risk Financing

ii) ––––––– is the extra payment done for administrative and capital
cost.

a) Premium

b) Premium Loading

c) Interest

iii) IRDA Act passed in the year –––––– .

a) 1972

b) 1999

c) 2000

iv) In insurance industry till August 2000 has only two nationalised
players, LIC and –––––– .

a) GIC

b) IRDA

c) SBI

P.T.O.
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v) Presently there are how many Insurance Ombudsman’s offices in
India?
a) 19
b) 17
c) 14

vi) –––––– Committee suggested the re-opening up of insurance sector
to private players.
a) K.N. Malhotra
b) R.N. Malhothra
c) Narshimham

B) Match the following. [5]
Group ‘A’ Group ‘B’

i) Nationalization of Insurance a) Organisation structure of GIC
sector

ii) Insurance (amendment) Act, b) A bank
2001

iii) Four Tier c) 1956
iv) Provide security d) Cooperative societies to carry

on insurance business
v) CIL e) Main purpose of insurance

f) Constructive Total Loss

Q2) Write short notes on (Any 2) : [10]
a) Risk Management
b) Guaranteed issue insurance
c) Third Party Administrators
d) FDP in insurance sector

Q3) a) What are the Principles of underwriting of insurance? [8]
b) What are the different techniques of transfer of insurance policy. [7]

Q4) a) What are the difference between Life and Non-life insurance? [8]
b) What are the challenges and future of Insurance business in India? [7]


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(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) VmoQ>m CËnmXZmMr e³¶Vm Q>miUo, H$mTy>Z Q>mH$Uo qH$dm H$‘r H$aUo ho Cnm¶ ........... ‘Ü¶o
g‘m{dï> AmhoV.

A) OmoIr‘ {Z¶§ÌU

~) OmoIr‘ Q>miUo

H$) OmoIr‘ {dÎmnwadR>m

ii) ............ ho àemgH$s¶ Am{U ^m§S>dbr IMm©gmR>r Ho$bobo A{V[aº$ XoUo hmo¶.

A) {d‘m hßVm

~) {d‘m hßË¶mMo AmoPo

H$) ì¶mO

iii) IRDA H$m¶Xm dfm©V ............ ‘§Oya Pmbm.

A) 1972

~) 1999

H$) 2000

iv) {d‘m CÚmoJmV Am°JñQ> 2000 n¶ªV EbAm¶gr Am{U ............. ’$º$ XmoZ amï´>r¶H¥$V
ì¶dgm¶ hmoVo.

A) OrAm¶gr

~) Am¶AmaS>rE

H$) Eg~rAm¶

PB1368
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v) gÜ¶m ^maVmV {d‘m bmoH$nmbMr {H$Vr H$m¶m©b¶o AmhoV?
A) 19

~) 17

H$) 14

vi) ............. g{‘VrZo {d‘m joÌmV ImOJr H§$nZrZm nwÝhm {d‘m ì¶dgm¶ gwé H$aÊ¶mMr
gyMZm Ho$br.
A) Ho$.EZ.‘b²hmoÌm
~) Ama.EZ. ‘b²hmoÌm
H$) ZaqgK‘

~) OmoS>çm Owidm. [5]
JQ> "A' JQ> "~'

i) {d‘m joÌmMo amï´>r¶rH$aU A) GIC Mr g§KQ>ZmË‘H$ g§aMZm
ii) {d‘m (gwYmaUm) A{Y{Z¶‘, 2001 ~) ~±H$
iii) Mma ñVa H$) 1956

iv) gwajm àXmZ H$aUo S>) {d‘m ì¶dgm¶ gwé R>odÊ¶mgmR>r ghH$mar
g§ñWm

v) grAm¶Eb (CIL) B) {då¶mMm ‘w»¶ CÔoe
’$) aMZmË‘H$ EHy$U ZwH$gmZ

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) OmoIr‘ ì¶dñWmnZ
~) h‘r Omar {d‘m
H$) V¥Vr¶ nj àemgH$
S>) {d‘m joÌmVrb naH$s¶ Jw§VdUyH$

à.à.à.à.à.3) A) {då¶mÀ¶m OmoIr‘ ñdrH$maÊ¶mMr VÎdo H$m¶ AmhoV? [8]
~) {d‘m hñVm§V[aV H$aÊ¶mMr {d{dY V§Ìo H$m¶ AmhoV? [7]

à.à.à.à.à.4) A) OrdZ Am{U gm‘mÝ¶ {då¶m‘Ü¶o H$m¶ ’$aH$ Amho? [8]
~) ^maVmVrb {d‘m ì¶dgm¶mMr AmìhmZo Am{U ^{dî¶ H$m¶ AmhoV? [7]


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Q1) A) Fill in the Blanks. [5×1=5]

a) ______ is a systematic and disciplined approach to software
development that aims to create high-quality, reliable, and
maintainable software.

i) Software engineering ii) Prototyping

iii) Concepts iv) Modelling

b) ______ is the process of defining the architecture, interfaces, and
data for a system that satisfies specific requirements.

i) System development ii) System design

iii) System manufacturing iv) System control

c) ______ method seeks information from the person in written and
prescribed format.

i) Call Interview ii) Enquiry

iii) Questionnaires iv) Communication

d) The ______ is a classical model used in system development life
cycle to create a system with a linear and sequential approach.

i) Waterfall model ii) RAD model

iii) RUP model iv) Spiral model

e) McCall’s factor model classifies all software requirements into
_______ software quality factors.

i) 5 ii) 6

iii) 10 iv) 11

P.T.O.
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B) Match the following: [5×1=5]

a) Prototyping Model i) Evaluate feasibility of system

b) Throwaway prototyping ii) Spiral software development

Methodologies

c) Software Quality Attributes iii) Prototype is built

d) Feasibility Study iv) Correctness

e) Rational Unified Process v) Rapid Prototyping

Q2) Short Notes (Any 2 out of 4) [10]

a) Types of System

b) Qualities of System Analyst

c) System Requirement Specification

d) System Concepts

Q3) a) Define System Analysis. Explain in detail Role of System Analyst. [8]

b) What is Software Engineering? What is the need for software
Engineering? [7]

Q4) a) Explain in detail System Development Life Cycle. [8]
b) What is Feasibility Study? Explain Types of Feasibility Study in detail.[7]


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Q1) a) Fill in the blanks [5]

i) ______ is the built-in function in python.

a) print() b) printf()

c) val() d) scanf()

ii) Python language was developed in ______ year.

a) 1989 b) 1991

c) 1986 d) 1999

iii) A block of code is designed using _____

a) Key b) Brackets

c) Indentation d) Variables

iv) _____is the extension of python program.

a) .python b) .py

c) .pth d) .p

v) Single line comment is given by ______ character in Python.

a) & b) //

c) # d) %

P.T.O.
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b) State whether the following statement is True or False: [5]

i) Python is open source programming language.

ii) Tuple data type in python is denoted by symbol [].

iii) += is called assignment operator in python.

iv) Python comment starts with symbol ‘//’.

v) Python is developed using C language.

Q2) Answer the following (Any 4).  [20]

a) Explain while loop with syntax and example.

b) Write a python program for addition of two numbers.

c) Explain five characteristics of python.

d) Write a python program to display whether the given number is
positive or negative.

e) Explain the data types in python.

Q3) Answer the following (Any 2) [20]

a) Explain break and pass statements in python with syntax and example.

b) Explain application of python in detail.

c) Explain in detail any five operators in python.


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Q1) A) Fill in the blanks [5]
1) Marketing and ________ Are closely related.

a) product knowledge b) Sales Management

c) MBA Degree d) Communication

2) Effective sales planning is the prime responsibility of ________

a) CEO b) Cost Manager

c) Sales Manager d) Marketing manager

3) Most organisations used their sales force to reach _____

a) Customers b) Traders

c) competitors d) sales

4) Following is the not part of sales management.

a) Task Allocation b) Motivation

c) Performance appraisal d) CPM

5) It is basic objectives of sales management.

a) To Capture market b) Advertise

c) communicate d) Finance

SEAT No. :
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B) Match the pairs [5]

a) Process of organisation of sales efforts 1) Source of recruitment

b) Advertisement in newspaper 2) setting objectives

c) Sales Planning 3) motivation

d) Written test 4) sales management

e) Fair pay packet 5) Selection process

Q2) Write short note on ( any 2) [10]

a) Importance of sales planning

b) External sources of recruitment

c) Methods of motivation to sales persons

d) Challenges before sales manger

Q3) Answer the following ( any 4) [20]

a) Internal Sources of recruitment

b) Scope of Sales Management

c) Sales Control

d) Process of Sales planning

e) Selection of salespersons

f) Methods of sales training

Q4) Answer the following ( any 1) [10]

a) What do you mean by Sales Management? Explain Need and importance
of sales management.

b) What do you mean by Training? Write detail note on training of
salespersons.

          



Q1) A) Choose the correct answers (Any Five) [5]
i) Social welfare surcharge is levied at the rate of ______

a) 10% of basic custom duty
b) 10% of assessable value
c) 10% of assessable value + basic custom duty
d) 10% of basic custom duty + additional custom duty

ii) Any goods, the import or export of which is subject to any
prohibition under the customs act or any  other law for the time
being in force, is known as _____.
a) Ineligible goods b) Prohibited goods
c) Restricted goods d) All of the above

iii) As per customs Act, 1962, conveyance includes _____.
a) Vessel
b) Aircraft
c) Vehicle including railway vehicle
d) All of the above

iv) In case of import of goods, taxable event occurs when____
a) Goods crosses the territorial water
b) Goods have been dispatched by the supplier
c) Goods become the part of land mass of India
d) Goods crosses the customs barrier

Total No. of Questions : 4]

[Total No. of Pages : 2
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v) The relevant date for duty payable on pilfered goods is the date
of ______.
a) Filing of bill of entry
b) Order of clearance
c) Granting entryinward
d) Filing of import general manifest or report

vi) The term "produced" includes ______.
a) Manufactured b) Grown
c) Mined d) All of the above

B) State whether the following statement is True of False [5]
i) Customs station means any customs port, customs airport or land.
ii) Export means bringing into India from a place outside India.
iii) In case of imported goods, transaction value also includes

commission and brokerage.
iv) Export means bringing into India from a place outside India.
v) Territorial water of India extends up to 15 nautical miles into the

sea from the appropriate base line.

Q2) Write short notes (Any two) [10]
a) Anti-Dumping Duty
b) Transaction Value
c) Indian territorial water V/s Indian customs water
d) Disposal of prohibited goods

Q3) Answer the following questions (Any four) [20]
a) Define foreign-going vessels or aircraft.
b) Define person-in-charge.
c) Define dutiable goods and imported goods.
d) What is Safeguard duty?
e) What are the different provisions regulating baggage?
f) Define goods under custom law.

Q4) Answer any one of the following questions : [10]
a) Explain the import and the export procedure under customs.
b) What are the different types of Customs Duties in India?


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Q1) A) Fill in the blanks [5]
1) The ___________ translates internet domain and host names to IP

address.

a) Domain Name System b) Network Time Protocol

c) Internet Relay Chat d) Routing Information Protocol

2) ________is the planning and creation of websites.

a) Web Format b) Web Design

c) Web Plan d) Web Layout

3) A piece of icon or image on a web page associated with another web
page is called _______

a) Plugin b) URL

c) Hyperlink d) Extension

4) _________ is not an example of social media website.

a) Facebook b) Instagram

c) Linkedln d) Olx

5) __________ describes an infrastructure that enables a web based system
or application to achieve its business objectives.

a) Web content model b) WebApp architecture

c) Web Design Pyramid d) Web authoring tools

SEAT No. :

P.T.O.
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B)  State whether the statement is True or False. [5]

1) A single host name may correspond to many IP addresses.

2) A website layout is the arrangement of all visual elements on a webpage.

3) Altavista is an example of search engine.

4) Web browser can show only image files.

5) Web design software enables users to create and edit the front-end
visualization of web pages or website prototypes.

Q2) Attempt any FOUR of the following: [20]

1) Write note on Search Engine.

2) Explain web content design.

3) What is Web Browser? Give any two examples of Web Browser.

4) Write note on Website planning.

5) Explain any two factors influencing Website Design.

Q3) Attempt any TWO of the following: [20]

1) Explain any two types of Websites.

2) What is Web application Architecture? Explain its components.

3) Explain:

i) Site Navigation

ii) Site Design

          
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Q1) A) Fill in the blanks. [5]

i) It is a systematic study of problems related to marketing of goods
and services.

a) product knowledge b) Sales Management

c) Marketing Research d) Basic research

ii) Effective marketing research includes ______

a) Product Management b) Cost Management

c) Sales Manager d) Marketing management

iii) Foreign policies in country includes in

a) Political environment b) Cultural environment

c) Competitors d) Sales policy

iv) It is marketing of products that are presumed to be environmentally
safe.

a) Green marketing b) Niche Marketing

c) Blue marketing d) CPM

v) It is basic advantage of digital marketing is _______

a) To Capture market b) Global reach

c) Local market d) District wholesaler
P.T.O.
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B) Match the pairs : [5]

i) Digital marketing a) Development of product

ii) Green marketing b) Lower cost

iii) Affiliate marketing c) Environment friendly products

iv) Marketing environment d) Establishing connection
through blogs

v) Product manager e) Internal and external factors.

Q2) Write short note on (any 2) [10]

a) Green marketing

b) Marketing research analyst

c) Role of promotional manager

d) Trends in marketing Environment

Q3) Answer the following (any 4). [20]

a) Objectives of marketing research

b) Functions of marketing manager

c) Role of Product Manager

d) Affiliate Marketing

e) Digital Marketing

f) Techniques of marketing research

Q4) Answer the following (any 1). [10]

a) What do you mean by marketing environment? Explain need and
importance of marketing Environment.

b) Explain need and importance of social media marketing.


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Q1) A) Choose the correct answer (Any Five) [5]
i) According to Schumpeter, _____ is the most important function of a

modern entrepreneur.
a) Ingenuity b) Discovery
c) Ability d) Innovation

ii) Entrepreneurship Development Programs is required to help______
entrepreneurs.
a) Existing b) First
c) Future d) Last

iii) _______ analysis is primarily concerned with the identification,
qualification, and evaluation of the project resources.
a) Techno-economic b) Economic
c) Input d) Feasibility

iv) _________  is the hallmark of a successful entrepreneur.
a) Risk bearing capacity b) Tenacity
c) Flexibility d) Self-confidence

v) _______ Entrepreneurs neither introduce new changes nor adopt new
methods innovated by others.
a) Fabian b) Technical

c) Induced d) Organisation

SEAT No. :
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vi) IDBI stands for__________

a) Industrial Development Board of India

b) Institutional Development Bank of India

c) Industrial Development Bank of India

d) Industrial Development Bank for India

B)  State whether the statement is True or False. [5]
i) Entrepreneurs are Risk Bearers.
ii) Industrial Entrepreneur is a person who demonstrates his innovative skill

in organizing a corporate undertaking.
iii) Self-Help Groups are the informal associations of people.
iv) The entrepreneur always introduces something new or can be an imitator.
v) Entrepreneurs of large-scale businesses like Tata, etc. are Instigated

Entrepreneur.
Q2) Write Short Notes (Any Two) [10]

a) Functions of MCED
b) Futures of Entrepreneurship in India
c) Prime Minister Employment Generation Program
d) Significances of MSME

Q3) Answer the following questions (Any Four) [20]
a) What are the deferent types of entrepreneurs?
b) What are the qualities of entrepreneurs?
c) What are the functions of a Pollution Control Board?
d) Explain the role of entrepreneurship.
e) What are the criteria for selection of a new product or service?
f) What are the important functions of DIC?

Q4)  Answer Any One of the following questions [10]
a) Explain the Role of National Entrepreneurship Development Board.
b) What are the functions of the State Industrial Development Bank?

          
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